14:30:38 12/3/2013	Public Improvement Assessment Ro	•	Project: 19147 Assn Resolution #:	nt: 145201	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	Quantity	Charge Amts	<b>Property ID</b>
Edward J Hitchcock	LAKE PHALEN ADDITION NO. 2 SUBJ TO ESMT THE FOL EX S 100 FT LOTS	Grade and Pave Lighting	70.46 12.47	104.00 104.00	\$7,327.84 \$1,296.88	20-29-22-14-0144
1465 Arcade St St Paul MN 55106-1723	11 AND 12 AND EX W 46 FT LOTS 3 AND ALL OF LOTS 1 AND LOT 2 BLK	Lighting	12.47	104.00	\$8,624.72	
*1465 ARCADE ST *Ward: 6	4	*** Taxpayer ***			\$0,02 I.72	
Raebern B Hitchcock Hitchcock / Alf Sivertson / Barrette 1465 Arcade St St Paul MN 55106-1723	LAKE PHALEN ADDITION NO. 2 SUBJ TO ESMT THE FOL EX S 100 FT LOTS 11 AND 12 AND EX W 46 FT LOTS 3 AND ALL OF LOTS 1 AND LOT 2 BLK 4	*** Owner ***			- — — — —	20-29-22-14-0144
*1465 ARCADE ST *Ward: 6						
	LAKE PHALEN ADDITION LOT 12	Grade and Pave		50.00	\$3,523.00	
509 Arcade St St Paul MN 55106-1038	BLK 2	Lighting	12.47	50.00	\$623.50 \$4,146.50	
*1509 ARCADE ST *Ward: 6		*** Owner and Taxpayer *	***		* ,	
	PHALEN VIEW LOT 11 BLK 4	Grade and Pave		45.00	\$3,170.70	
587 Arcade St Saint Paul MN 55106-1051		Lighting	12.47	45.00	\$561.15 \$3,731.85	
**1587 ARCADE ST *Ward: 6		*** Owner and Taxpayer *	***		ره,/١٤٥٥	
Sherry L Sanders Rickie Sanders	PHALEN VIEW EX N 10 FT LOT 15 AND ALL OF LOT 16 BLK 1	Grade and Pave Lighting	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60	20-29-22-11-0069
363 S Mccarrons Blvd Roseville MN 55113-6911		*** Owner and Taxpayer *	***	=	\$6,634.40	

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assm	t: 145201	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	<b>Quantity</b>	Charge Amts	Property ID
Robert E Barduson Angeline A Barduson	PHALEN VIEW N 25 FT OF LOT 12 AND ALL OF LOT 11 BLK 1	Grade and Pave Lighting		70.46 12.47	70.00 70.00	\$4,932.20 \$872.90	20-29-22-11-0066
1615 Arcade St St Paul MN 55106-1040 *1615 ARCADE ST *Ward: 6		*** Owner and Taxpay	yer ***			\$5,805.10	
Eugene W Frogner Dolores F Jacobsen	CATLIN'S ADDITION TO THE CITY OF ST. PAUL LOTS 17 AND LOT 18 BLK 3	Grade and Pave Lighting		70.46 12.47	82.00 82.00	\$5,777.72 \$1,022.54	20-29-22-11-0012
1621 Arcade St St Paul MN 55106-1041 *1621 ARCADE ST *Ward: 6		*** Owner and Taxpay	yer ***			\$6,800.26	
Gustavus Adolphus Evangelical Lutheran Church 1669 Arcade St	CATLIN'S ADDITION TO THE CITY OF ST. PAUL EX W 32 FT OF E 422 FT OF N 156.5 FT; E 422 FT OF NE 1/4 OF NE 1/4 LYING N OF BLK 1 CATLIN'S ADD	Grade and Pave Lighting		70.46 12.47	310.00 310.00	\$21,842.60 \$3,865.70 \$25,708.30	20-29-22-11-0117
St Paul MN 55106-1041 *1649 ARCADE ST *Ward: 6	(SUBJ TO STS) IN SEC 20 TN 29 RN 22 & IN SD CATLIN'S ADD, VAC STS AND	*** Owner and Taxpay	yer ***			• • • • • • • • • • • • • • • • • • • •	
Mark P Meath 516 California Ave E	GASTONS SUBDIVISION NO. 1 THE E 132.2 FT OF THE FOL; THE S 98.38 FT	Grade and Pave Lighting		70.46 12.47	62.00 62.00	\$4,368.52 \$773.14	20-29-22-21-0034
St Paul MN 55130-3011 *516 CALIFORNIA AVE E *Ward: 5	OF LOT 3 & THE N 85.62 FT OF LOT 4 BLK 1	*** Owner and Taxpay	yer ***		:	\$5,141.66	
Myo Nyunt Naw Aye Aye	EDGERTON MANOR LOT 19 BLK 1	Grade and Pave Lighting		70.46 12.47	- — <del></del>	\$4,227.60 \$748.20	20-29-22-21-0055
521 California Ave St Paul MN 55130-3011		*** Owner and Taxpay	yer ***		:	\$4,975.80	

\*521 CALIFORNIA AVE E

14:30:38 12/3/2013	Public Improvement Assessment I	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Pa
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rat	e Quantity	Charge Amts	<b>Property ID</b>
John P Lynch	EDGERTON MANOR LOT 1 BLK 2	Grade and Pave	70.4			20-29-22-21-0056
Vilma Lynch		Lighting	12.4	7 57.00	\$710.79	
22 California Ave E					\$4,727.01	
t Paul MN 55130-3011		*** Owner and Taxpay	/er ***			
<b>*522 CALIFORNIA AVE E</b> Ward: 5						
amela J Itzin	EDGERTON MANOR LOT 18 BLK 1	Grade and Pave	70.4	6 68.00	\$4,791.28	20-29-22-21-0054
27 California Ave E		Lighting	12.4	7 68.00	\$847.96	
aint Paul MN 55130-3011					\$5,639.24	
527 CALIFORNIA AVE E		*** Owner and Taxpay	ver ***			
Ward: 5						
	EDGERTON MANOR LOT 2 BLK 2			<del></del>	\$4,650.36	20-29-22-21-0057
28 California Ave E		Lighting	12.4	7 66.00		20-27-22-21-0037
aint Paul MN 55130-3011					\$5,473.38	
<b>528 CALIFORNIA AVE E</b> Ward: 5		*** Owner and Taxpay	/er ***			
	EDGERTON MANOR LOT 17 BLK 1			$\frac{1}{6}$ — — $\frac{1}{63.00}$		
33 California Ave E		Lighting	12.4			20-29-22-21-0053
Paul MN 55130-3011		5 - 5			\$5,224.59	
533 CALIFORNIA AVE E		*** Owner and Taxpay	er ***		\$3,224.37	
Ward: 5						
	EDGERTON MANOR LOT 3 BLK 2			6 61.00		20-29-22-21-0058
leng Yang		Lighting	12.4	7 61.00	\$760.67	
006 Stillwater Ave E					\$5,058.73	
aint Paul MN 55119-3537		*** Owner and Taxpay	ver ***			

\*534 CALIFORNIA AVE E

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Resolution #:	Assm	t: 145201	Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>U</u>	nit Rate	Quantity	Charge Amts	Property ID	
Wayne Blossey 537 California Ave E	EDGERTON MANOR LOT 16 BLK 1	Grade and Pave Lighting		70.46 12.47	63.00	\$4,438.98 \$785.61	20-29-22-21-0052	
Saint Paul MN 55130-3011					:	\$5,224.59		
*537 CALIFORNIA AVE E *Ward: 5		*** Owner and Taxpa	yer ***			, ,		
Eric L Gillstrom	EDGERTON MANOR LOT 4 BLK 2	Grade and Pave		<del></del>	61.00	\$4,298.06	20-29-22-21-0059	
Mandy J Gillstrom		Lighting		12.47	61.00	\$760.67		
538 California Ave E St Paul MN 55130-3011 *538 CALIFORNIA AVE E *Ward: 5		*** Owner and Taxpa	yer ***			\$5,058.73		
Houa Yang Neng Her 543 California Ave E Saint Paul MN 55130-3011 *543 CALIFORNIA AVE E *Ward: 5	EDGERTON MANOR LOT 15 BLK 1	Grade and Pave Lighting  *** Owner and Taxpa	 yer ***	70.46 12.47	64.00 64.00	\$4,509.44 \$798.08 \$5,307.52	20-29-22-21-0051	
Thomas Schappa Shelby A Schappa 544 California Ave E	EDGERTON MANOR LOT 5 BLK 2	Grade and Pave Lighting		70.46 12.47	63.00 63.00	\$4,438.98 \$785.61 \$5,224.59	20-29-22-21-0060	
St Paul MN 55130-3011 *544 CALIFORNIA AVE E *Ward: 5		*** Owner and Taxpa	yer ***			93,224.39		
Donald S Selander Nancy A Selander	EDGERTON MANOR LOT 14 BLK 1	Grade and Pave Lighting			<del>68.00</del> 68.00	- — — \$4,791.28 \$847.96	20-29-22-21-0050	
549 California Ave E St Paul MN 55130-3011		*** Owner and Taxpa	yer ***		:	\$5,639.24		

\*549 CALIFORNIA AVE E

14:30:38 12/3/2013	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19147 Assn Resolution #:	nt: 145201	Manager: LM	Pa
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Ann C Phoenix	EDGERTON MANOR LOT 6 BLK 2	Grade and Pave	70.46	65.00	\$4,579.90	20-29-22-21-0061
550 California Ave E		Lighting	12.47	65.00	\$810.55	
St Paul MN 55130-3011		*** 0 1T	***		\$5,390.45	
*S50 CALIFORNIA AVE E *Ward: 5		*** Owner and Taxpay	er ***			
	EDGERTON MANOR LOT 7 BLK 2	Grade and Pave	70.46	62.00	\$4,368.52	20-29-22-21-0062
Iarilyn R Roach		Lighting	12.47	62.00	\$773.14	
54 California Ave E				•	\$5,141.66	
t Paul MN 55130-3011		*** Owner and Taxpay	er ***			
554 CALIFORNIA AVE E Ward: 5						
waid. 3						
	EDGERTON MANOR LOT 13 BLK 1	Grade and Pave	70.46	63.00	\$4,438.98	20-29-22-21-0049
55 California Ave E		Lighting	12.47	63.00	\$785.61	
t Paul MN 55130-3011				=	\$5,224.59	
SSS CALIFORNIA AVE E Ward: 5		*** Owner and Taxpay	er ***			
	EDGERTON MANOR LOT 8 BLK 2	 Grade and Pave				
David L Williams anet L Cryer	EDGERION MANOR EOT 8 BER 2	Lighting	70.46 12.47	61.00 61.00	\$4,298.06 \$760.67	20-29-22-21-0063
60 California Ave E		88			\$5,058.73	
t Paul MN 55130-3011		*** Owner and Taxpay	er ***		\$5,056.75	
560 CALIFORNIA AVE E						
Ward: 5						
	EDGERTON MANOR LOT 12 BLK 1			63.00		20-29-22-21-0048
760 Sun Ter		Lighting	12.47	63.00	\$785.61	40-47-44-41-00 <b>-</b> 0
/hite Bear Lake MN 55110-4956				=	\$5,224.59	
		4440 17	ale ale ale		*	

\*\*\* Owner and Taxpayer \*\*\*

\*561 CALIFORNIA AVE E

\*Ward: 5

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assm	t: 145201	Manager: LM	Page (
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
Chaiyo Kotechompoo 575 California Ave E	EDGERTON MANOR LOT 11 BLK 1	Grade and Pave Lighting		70.46 12.47	69.00 69.00	\$4,861.74 \$860.43	20-29-22-21-0047
*575 CALIFORNIA AVE E *Ward: 5		*** Owner and Taxpa	yer ***		·	\$5,722.17	
Brent Larson 635 California Ave E St Paul MN 55130-3013 *635 CALIFORNIA AVE E *Ward: 6	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 6 AND LOT 7 BLK 1	Grade and Pave Lighting  *** Taxpayer ***		70.46 12.47	76.00 76.00	\$5,354.96 \$947.72 \$6,302.68	20-29-22-12-0025
Kathryn Larson Larson 635 California Ave E St Paul MN 55101-3013 *635 CALIFORNIA AVE E *Ward: 6	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 6 AND LOT 7 BLK 1	*** Owner ***					20-29-22-12-0025
Ma Yin Noe Naw Mu 643 California Ave E Saint Paul MN 55106-1001 *643 CALIFORNIA AVE E *Ward: 6	CLAPP-THOMSSEN GREENBRIER PARK ADDITION LOT 20 BLK 1	Grade and Pave Lighting  *** Owner and Taxpa		70.46 12.47	65.00 65.00	\$4,579.90 \$810.55 \$5,390.45	20-29-22-12-0020
Kong M Lee Yaly Vang lee 1592 Edgerton St Saint Paul MN 55130-3053	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. S 9 65/100 FT OF LOT 17 AND ALL OF LOT 16 BLK 3	Grade and Pave Lighting  *** Owner and Taxpa		70.46 12.47	46.00 46.00	\$3,241.16 \$573.62 \$3,814.78	20-29-22-12-0073

\*1592 EDGERTON ST

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	ssmt: 145201	Manager: LM	Page 7
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	Property ID
John R Oren Mary J Oren	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX S 3O 35/100 FT LOT 21 AND ALL OF LOT 22 BLK 3	Grade and Pave Lighting	70.46 12.47	46.00 46.00	\$3,241.16 \$573.62	20-29-22-12-0078
1620 Edgerton St	ALL OF LOT 22 BLK				\$3,814.78	
St Paul MN 55130-3053		*** Owner and Taxpay	er ***			
*1620 EDGERTON ST *Ward: 6						
Beneficial Properties LIc	UFTON GROVE, PLAT 1, RAMSEY, CO.,	Grade and Pave				
2127 Spruce Trl	MINN. S 18 FT OF LOT 17 AND ALL OF LOT 16 BLK 2	Lighting	12.47	54.00	\$673.38	
White Bear Lake MN 55110-4731 *1624 EDGERTON ST *Ward: 6		*** Owner and Taxpay	/er ***		\$4,478.22	
Andrew P Nelson 1649 Edgerton St St Paul MN 55130-3054 *1649 EDGERTON ST *Ward: 5	SECTION 20 TOWN 29 RANGE 22 SUBJ TO ST THE N 107 FT OF S 355 FT OF E 163 FT OF NE 1/4 OF NE 1/4 OF NW 1/4 OF SEC 20 TN 29 RN 22	Grade and Pave Lighting  *** Owner and Taxpay	70.46 12.47 ver ***		\$7,539.22 \$1,334.29 \$8,873.51	20-29-22-21-0064
Gary D Anderson Trustee 698 Hoyt Ave E St Paul MN 55106-1006	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 1 BLK 1	Grade and Pave Lighting  *** Owner ***	70.46 12.47		\$2,818.40 \$498.80 \$3,317.20	20-29-22-13-0001
*698 HOYT AVE E *Ward: 6		Owner ***				
Gary D Anderson 698 Hoyt Ave E St Paul MN 55106-1006 *698 HOYT AVE E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 1 BLK 1	*** Taxpayer ***				20-29-22-13-0001

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Resolution #:			Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Ur</u>	nit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Paige J Reinhardt Lillian A Reinhardt 704 Hoyt Ave E	EKBERG'S SUBDIVISION W 13 FT OF LOT 7 AND ALL OF LOT 8	Grade and Pave Lighting		70.46 12.47	60.00 60.00	\$4,227.60 \$748.20	20-29-22-14-0006	
*704 HOYT AVE E *Ward: 6		*** Owner and Taxpa	ayer ***			\$4,975.80		
Dennis A Orfei 736 Hoyt Ave E	EKBERG'S SUBDIVISION EX W 28 FT LOT 2 AND ALL OF LOT 1	Grade and Pave Lighting		70.46 12.47	62.00 62.00	\$4,368.52 \$773.14	20-29-22-14-0001	
St Paul MN 55106-1008 * <b>736 HOYT AVE E</b> *Ward: 6		*** Owner and Taxpa	ayer ***			\$5,141.66		
Diane Marie Fruci Diane Marie Fruci Trustee	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. EX E 67 FT; THE NW 1/4	Grade and Pave Lighting		70.46 12.47	133.00 133.00	\$9,371.18 \$1,658.51	20-29-22-14-0151	
740 Hoyt Ave E St Paul MN 55106-1010 * <b>740 HOYT AVE E</b> *Ward: 6	OF BLK 2	*** Owner and Taxpa	ayer ***		-	\$11,029.69		
Jack P Larson	PHALEN VIEW E 26 FT OF LOT 9 AND ALL OF LOT 10 BLK 3	Grade and Pave		70.46	66.00	\$4,650.36	20-29-22-11-0087	
Jean E Larson 775 Hoyt Ave E St Paul MN 55106-1009 *775 HOYT AVE E *Ward: 6		Lighting  *** Owner and Taxpa	ayer ***	12.47	66.00	\$823.02 \$5,473.38		
Thomas J Ruter 776 Hoyt Ave E St Paul MN 55106-1010	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. E 50 FT OF N 1/2 OF BLK 2	Grade and Pave Lighting		70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0050	
	PAUL, MINN. E 50 FT OF N 1/2 OF BLK		ayer ***			\$62	23.50	

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Resolution #:	Assmt: 14	45201	Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit R	<u>ite</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Gary J Heaser	B. SCHNITIZIUS ADDITION TO ST.	Grade and Pave	70.		62.00	\$4,368.52	20-29-22-14-0099	
782 Hoyt Ave E	PAUL, MINN. LOT 1 BLK 1	Lighting	12.	47	62.00	\$773.14		
<b>St Paul MN 55106-1043 *782 HOYT AVE E *Ward:</b> 6		*** Owner and Taxpaye	1.***			\$5,141.66		
Geoffrey A Patrick	PHALEN VIEW EX E 12 FT LOT 7 AND ALL OF LOT 6 BLK 4	Grade and Pave Lighting	70.		68.00 68.00	\$4,791.28 \$847.96	20-29-22-11-0073	
Jeffery J Korpi 785 Hoyt Ave E		Lighting	12.	7,	=	\$5,639.24		
St Paul MN 55106-1042		*** Owner and Taxpaye	τ ***			\$3,039.24		
*785 HOYT AVE E								
*Ward: 6								
Catherine M O'bryan	JOSEPH R. WEIDE'S 2ND ADDITION	Grade and Pave			50.00	\$3,523.00	20-29-22-43-0044	
630 Hyacinth Ave E	TO THE CITY OF ST. PAUL LOTS 9 AND LOT 10 BLK 3	Lighting	12.	47	50.00	\$623.50		
St Paul MN 55130-3535 *630 HYACINTH AVE E *Ward: 6		*** Owner and Taxpaye	r ***			\$4,146.50		
Steven M Sundberg	STONE & MORTON'S ADDITION TO			<del></del>	33.00	\$2,325.18	20-29-22-43-0121	
2128 Blomquist Ave	THE CITY OF ST. PAUL LOT 22 BLK 1	Lighting	12.	47	33.00	\$411.51		
White Bear Lake MN 55110-4702 *647 HYACINTH AVE E *Ward: 6		*** Owner and Taxpaye	1. ***		_	\$2,736.69		
Thomas Chang	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 13 BLK 2	Grade and Pave Lighting	70.		31.00 31.00	\$2,184.26 \$386.57	20-29-22-43-0144	
648 Hyacinth Ave E Saint Paul MN 55106-1911				<del>-</del> /	51.00 =	\$2,570.83		
*648 HYACINTH AVE E		*** Owner and Taxpaye	r ***					

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Ra	te Quantity	Charge Amts	Property ID
Joseph Becker Freddie A Perteet Becker	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. E 4 FT MOL OF ALLEY VAC W OF AND ADJ AND LOT 23 BLK 3	Grade and Pave Lighting	70.4 12.4		\$548.68	20-29-22-12-0079
3464 Savannah Ave White Bear Lake MN 55110-4579 *594 IDAHO AVE E *Ward: 6		*** Owner and Taxpay	/er ***		\$3,648.92	
Tuan M Ngo	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. W 6 FT OF LOT 14 AND ALL OF	Grade and Pave			*	20-29-22-12-0051
595 Idaho Ave E St Paul MN 55130-3022 * <b>595 IDAHO AVE E</b> *Ward: 6	LOT 15 BLK 2	Lighting  *** Owner and Taxpay		7 40.00	\$3,814.78	
Desmond J Farrelly Nicole A Farrelly	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. W 12 FT OF LOT 13 AND EX W 6 FT LOT 14 BLK 2	Grade and Pave Lighting			\$573.62	20-29-22-12-0050
599 Idaho Ave E Saint Paul MN 55130-3022 * <b>599 IDAHO AVE E</b> *Ward: 6	FT LOT 14 BLK 2	*** Owner and Taxpay	/er ***		\$3,814.78	
	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. W 1/2 OF LOT 25 AND ALL OF LOT 24 BLK 3	Grade and Pave Lighting			*	20-29-22-12-0080
St Paul MN 55130-3023 *600 IDAHO AVE E *Ward: 6		*** Owner and Taxpay	/er ***		\$4,975.80	
Stephen R Chapman 603 Idaho Ave E	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. W 18 FT OF LOT 12 AND EX W 12 FT LOT 13 BLK 2	Grade and Pave Lighting			· · · · · · · · · · · · · · · · · · ·	20-29-22-12-0049
St Paul MN 55130-3022 *603 IDAHO AVE E		*** Owner and Taxpay	/er ***		\$3,814.78	

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Jessica Walston 606 Idaho Ave E	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. E 1/2 OF LOT 25 AND ALL OF LOT 26 BLK 3	Grade and Pave Lighting	70.46 12.47	60.00	\$4,227.60 \$748.20	20-29-22-12-0081
February 2015 Saint Paul MN 55130-3023 February 2015 Sain		*** Owner and Taxpay	/er ***		\$4,975.80	
Celestine Ogbebor	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX E 15 92/100 FT LOT 11 AND	Grade and Pave	70.46	46.00	\$3,241.16	20-29-22-12-0048
Violet O Ogbebor	EX W 18 FT LOT 12 BLK 2	Lighting	12.47	46.00	\$573.62	
509 Idaho Ave E St Paul MN 55130-3022 *609 IDAHO AVE E *Ward: 6		*** Owner and Taxpay	/er ***		\$3,814.78	
Russell A Labelle	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. W 1/2 OF LOT 28 AND ALL OF	Grade and Pave	70.46	60.00	\$4,227.60	20-29-22-12-0082
Sandra L Labelle 510 Idaho Ave E 5t Paul MN 55130-3023 5610 IDAHO AVE E	LOT 27 BLK 3	Lighting  *** Owner and Taxpay	12.47 /er ***	60.00	\$748.20 \$4,975.80	
*Ward: 6						
ulie L Crosby	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. E 15 92/100 FT OF LOT 11 AND	Grade and Pave	70.46	46.00	\$3,241.16	20-29-22-12-0047
11 Idaho Ave E t Paul MN 55130-3022	EX E 9 94/100 FT LOT 10 BLK 2	Lighting	12.47	46.00	\$573.62	
<b>E611 IDAHO AVE E</b> Ward: 6		*** Owner and Taxpay	/er ***		\$3,814.78	
Andrew Busam 616 Idaho Ave E	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. E 1/2 OF LOT 28 AND ALL OF	Grade and Pave Lighting	70.46 12.47	60.00 60.00	\$4,227.60 \$748.20	20-29-22-12-0083
Saint Paul MN 55130-3023	LOT 29 BLK 3	*** Owner and Taxpay	/er ***	:	\$4,975.80	

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address  Ratification Date:	Project: 19147 As Resolution #:	ssmt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Alan R Auzins Geraldine M Auzins	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. E 9 94/100 FT OF LOT 10 AND W 35 FT OF LOT 9 BLK 2	Grade and Pave Lighting	70.46 12.47	45.00 45.00	\$3,170.70 \$561.15	20-29-22-12-0046
617 Idaho Ave E St Paul MN 55130-3022 *617 IDAHO AVE E *Ward: 6		*** Owner and Taxpa	yer ***		\$3,731.85	
Gwen M Moore Ronald L Moore	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2	Grade and Pave Lighting	70.46 12.47		\$3,170.70 \$561.15	20-29-22-12-0045
11423 Neal Ave N Stillwater MN 55082-9529 *623 IDAHO AVE E *Ward: 6		*** Owner ***			\$3,731.85	
Jacqueline S Vanduzee 623 Idaho Ave E St Paul MN 55130-3022 *623 IDAHO AVE E *Ward: 6	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2	*** Taxpayer ***				20-29-22-12-0045
Scot A Tuma Lynn M Olson Tuma 624 Idaho Ave E St Paul MN 55130-3023 *624 IDAHO AVE E	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 30 BLK 3	Grade and Pave Lighting  *** Owner and Taxpa	70.46 12.47 yer ***	40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-12-0084
*Ward: 6  Nathan J Badger Tracy J Trojanowski 655 Idaho Ave E St Paul MN 55106-1011	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 14 AND LOT 15 BLK 6	Grade and Pave Lighting  *** Owner and Taxpa	70.46 12.47		\$5,636.80 \$997.60 \$6,634.40	

\*655 IDAHO AVE E

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Daniel J Ingalsbe 658 Idaho Ave E	UFTON GROVE, THIRD PLAT LOTS 20 AND LOT 21 BLK 2	Grade and Pave Lighting	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60	20-29-22-12-0136
<b>*658 IDAHO AVE E</b> *Ward: 6		*** Owner and Taxpay	/er ***		\$6,634.40	
Hillary Buse Eric Rausch	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. LOTS 12 AND LOT 13 BLK 6	Grade and Pave Lighting	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60	20-29-22-12-0108
663 Idaho Ave E Saint Paul MN 55106-1011 *663 IDAHO AVE E *Ward: 6		*** Owner and Taxpay	/er ***		\$6,634.40	
William C Reeck 664 Idaho Ave E St Paul MN 55106-1012	UFTON GROVE, THIRD PLAT LOTS 22 AND LOT 23 BLK 2	Grade and Pave Lighting	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60 \$6,634.40	20-29-22-12-0137
*664 IDAHO AVE E *Ward: 6		*** Owner and Taxpay	/er ***		. ,	
Thien C Nguyen 674 Idaho Ave	UFTON GROVE, THIRD PLAT LOTS 24 AND LOT 25 BLK 2	Grade and Pave Lighting			\$4,720.82 \$835.49	20-29-22-12-0138
*674 IDAHO AVE E *Ward: 6		*** Owner and Taxpay			\$5,556.31	
Jonathan D Grafsky Pang Grafsky	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 10 AND LOT 11 BLK 6	Grade and Pave Lighting	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60	20-29-22-12-0107
675 Idaho Ave E St Paul MN 55106-1011		*** Owner and Taxpay	/er ***		\$6,634.40	

\*675 IDAHO AVE E

4:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 A Resolution #:	assmt: 145201	Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<u>Quantity</u>	Charge Amts	<b>Property ID</b>	
Mu Win 681 Idaho Ave E	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 8 AND LOT 9 BLK 6	Grade and Pave Lighting	70.46		\$5,636.80 \$997.60	20-29-22-12-0106	
Saint Paul MN 55106-1011  *681 IDAHO AVE E  *Ward: 6		*** Owner and Taxpayo	2r ***		\$6,634.40		
Brandon Rucci	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 4 & W 1/2 OF LOTS 5, 6 &	Grade and Pave				20-29-22-12-0104	
Yolanda Rucci 689 Idaho Ave E Saint Paul MN 55106-1011 * <b>689 IDAHO AVE E</b> *Ward: 6	LOT 7BLK 6	Lighting  *** Owner and Taxpayo		08.00	\$5,639.24		
Derek A Wolfe 5232 Minnehaha Ave Minneapolis MN 55417-2327  *695 IDAHO AVE E  *Ward: 6	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. SUBJ TO SEWER ESMT THE E 1/2 OF LOTS 5 6 AND LOT 7 BLK 6	Grade and Pave Lighting  *** Owner and Taxpayo	70.46 12.47		\$4,016.22 \$710.79 \$4,727.01	20-29-22-12-0105	
Pao Xiong See Vang 176 Idaho Ave E St Paul MN 55106-1049 1776 IDAHO AVE E 178 Ward: 6	PHALEN VIEW E 10 FT OF LOT 2 AND ALL OF LOT 1 BLK 2	Grade and Pave Lighting  *** Owner and Taxpayo	70.46 12.47		\$3,523.00 \$623.50 \$4,146.50	20-29-22-11-0049	
Thong Thao Christine S Vang 782 Idaho Ave E	PHALEN VIEW LOTS 4 AND LOT 5 BLK 1	Grade and Pave Lighting	70.46 12.47		\$5,636.80 \$997.60 \$6,634.40	20-29-22-11-0062	
St Paul MN 55106-1044		*** Owner and Taxpayo	er ***		90,034.40		

\*782 IDAHO AVE E

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Ass. Resolution #:	mt: 145201	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	Quantity	Charge Amts	<b>Property ID</b>
Fue Thao Seng Her	PHALEN VIEW W 30 FT OF LOT 2 AND ALL OF LOT 3 BLK 1	Grade and Pave Lighting	70.46 12.47	70.00 70.00	\$4,932.20 \$872.90	20-29-22-11-0061
790 Idaho Ave E St Paul MN 55106-1044 * <b>790 IDAHO AVE E</b> *Ward: 6		*** Owner and Taxpaye	τ ***		\$5,805.10	
Marilyn R Nadeau Vaught 24022 102nd Place W Edmonds WA 98020-5715 *800 IDAHO AVE E *Ward: 6	PHALEN VIEW EX W 30 FT LOT 2 AND ALL OF LOT 1 BLK 1	Grade and Pave Lighting  *** Owner ***	70.46 12.47	50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-11-0060
Ruth A Nadeau 24022 102nd Place W Edmonds WA 98020-5715 *800 IDAHO AVE E *Ward: 6	PHALEN VIEW EX W 30 FT LOT 2 AND ALL OF LOT 1 BLK 1	*** Taxpayer ***				20-29-22-11-0060
Erin A Mccabe 586 Iowa Ave E Saint Paul MN 55130-3027 *586 IOWA AVE E *Ward: 6	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 22 BLK 4	Grade and Pave Lighting  *** Owner and Taxpaye	70.46 12.47	36.00	\$2,536.56 \$448.92 \$2,985.48	20-29-22-12-0096
Neng Heur Pla Yang 594 Iowa Ave E Saint Paul MN 55130-3027	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX E 24 FT LOT 24 AND ALL OF LOT 23 BLK 4	Grade and Pave Lighting  *** Owner and Taxpaye	70.46 12.47	56.00 56.00	\$3,945.76 \$698.32 \$4,644.08	20-29-22-12-0097

\*594 IOWA AVE E

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Rick Berthiaume Virginia Berthiaume	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. W 20 FT OF LOT 14 AND ALL OF LOT 15 BLK 3	Grade and Pave Lighting	70.46 12.47	60.00	\$4,227.60 \$748.20	20-29-22-12-0072
595 Iowa Ave E Saint Paul MN 55130-3026 * <b>595 IOWA AVE E</b> *Ward: 6		*** Owner and Taxpayo	er ***		\$4,975.80	
Jonathan D Born 596 Iowa Ave E	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. E 24 FT OF LOT 24 AND W 28 FT OF LOT 25 BLK 4	Grade and Pave Lighting	70.46 12.47	52.00 52.00	\$3,663.92 \$648.44	20-29-22-12-0098
St Paul MN 55130-3027 * <b>596 IOWA AVE E</b> *Ward: 6	OF EOT 23 BLK 4	*** Owner and Taxpayo	€Γ ***		\$4,312.36	
Elizabeth M Watzl 600 Iowa Ave E Saint Paul MN 55130-3027	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 28 FT LOT 25 AND W 10 FT OF LOT 27 AND ALL OF LOT 26 BLK 4	Grade and Pave Lighting	70.46 12.47	62.00 62.00	\$4,368.52 \$773.14 \$5,141.66	20-29-22-12-0099
*600 IOWA AVE E *Ward: 6	BLK 4	*** Owner and Taxpayo	er ***		\$3,1 <b>4</b> 1.00	
Duane A Johnson	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. EX W 20 FT LOT 14 AND ALL	Grade and Pave Lighting			\$4,227.60 \$748.20	20-29-22-12-0071
ol I Iowa Ave E Saint Paul MN 55130-3026 F601 IOWA AVE E Ward: 6	OF LOT 13 BLK 3	*** Owner and Taxpayo		00.00	\$4,975.80	
	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 11 & LOT 12 BLK 3	Grade and Pave Lighting			\$5,636.80 \$997.60	20-29-22-12-0070
Saint Paul MN 55130-3026 *603 IOWA AVE E		*** Owner and Taxpayo	er ***		\$6,634.40	

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 14	15201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Ra</u>	<u>ite</u> (	Quantity	Charge Amts	Property ID
Ryan Carlson  Danielle Carlson 610 Iowa Ave E	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 10 FT OF LOT 27 AND ALL OF LOT 28 BLK 4	Grade and Pave Lighting	70. 12.		70.00 70.00	\$4,932.20 \$872.90 \$5,805.10	20-29-22-12-0100
*610 IOWA AVE E *610 IOWA AVE E *Ward: 6		*** Owner and Taxpay	er ***			\$5,805.10	
Louis T Larsen Nancy A Larsen 620 Iowa Ave E	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 29 BLK 4	Grade and Pave Lighting	70. 12.		40.00 40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-12-0101
St Paul MN 55130-3027 * <b>620 IOWA AVE E</b> *Ward: 6		*** Owner and Taxpay	er ***			17.20 كا 17.20	
Christopher J Vitko 623 Iowa Ave E St Paul MN 55130-3026	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 8 9 AND LOT 10 BLK 3	Grade and Pave Lighting	70.		120.00 120.00 =	\$8,455.20 \$1,496.40 \$9,951.60	20-29-22-12-0069
* <b>623 IOWA AVE E</b> *Ward: 6		*** Owner and Taxpay	er ***				
Marshall L Dutcher  Margaret R Dutcher	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 30 BLK 4	Grade and Pave Lighting			40.00 40.00	\$2,818.40 \$498.80	20-29-22-12-0102
628 Iowa Ave E St Paul MN 55130-3027 *628 IOWA AVE E *Ward: 6		*** Owner and Taxpay			=	\$3,317.20	
Kim L Christianson 635 Iowa Ave E	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 7 BLK 3	Grade and Pave Lighting			36.00 36.00	\$2,536.56 \$448.92	20-29-22-12-0068
St Paul MN 55130-3026 * <b>635 IOWA AVE E</b>		*** Owner and Taxpay	er ***		=	\$2,985.48	

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 As Resolution #:	ssmt: 145201	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Lee Vang Thao 651 Iowa Ave E	UFTON GROVE, THIRD PLAT S 50.82 FT MOL OF W 1/2 OF VAC ALLEY ACCRUING & FOL; EX N 15 FT LOT 14	Grade and Pave Lighting	70.46 12.47	61.00 61.00	\$4,298.06 \$760.67	20-29-22-12-0132
*651 IOWA AVE E *Ward: 6	& ALL OF LOT 13 BLK 2	*** Owner and Taxpa	ayer ***		\$5,058.73	
Paige J Reinhardt Lillian A Reinhardt	UFTON GROVE, THIRD PLAT W 1/2 OF VAC ALLEY LYING S OF ELY	Grade and Pave Lighting			\$3,523.00 \$623.50	20-29-22-12-0131
704 Hoyt Ave E St Paul MN 55106-1008 *663 IOWA AVE E *Ward: 6	EXTENSION OF N LINE OF LOT 15 & N OF ELY EXTENSION OF S LINE OF N 25 FT OF LOT 14 ALSO E 1/2 OF VAC ALLEY ACCRUING & LOT 12 BLK 2	*** Owner and Taxpa	ayer ***		\$4,146.50	
Paige J Reinhardt 704 Hoyt Ave E	UFTON GROVE, THIRD PLAT LOT 11 BLK 2	Grade and Pave Lighting	70.46 12.47	40.00 40.00	\$2,818.40 \$498.80	20-29-22-12-0130
*667 IOWA AVE E *Ward: 6		*** Owner and Taxpa			\$3,317.20	
Lawrence J Michalitsch Constance M Michalitsch	UFTON GROVE, THIRD PLAT LOT 10 BLK 2	Grade and Pave Lighting			\$2,818.40 \$498.80	20-29-22-12-0129
671 Iowa Ave E St Paul MN 55106-1013 *671 IOWA AVE E *Ward: 6		*** Taxpayer ***	12.17	10.00	\$3,317.20	
Marie G Schrul Michalitsch 671 Iowa Ave E St Paul MN 55106-1255	UFTON GROVE, THIRD PLAT LOT 10 BLK 2	*** Owner ***				20-29-22-12-0129

\*671 IOWA AVE E

14:30:38 12/3/2013	Public Improvement Assessment Ro		Project: 19147 Assn Resolution #:	nt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Joseph J Michalitsch 673 Iowa Ave E St Paul MN 55106-1013	UFTON GROVE, THIRD PLAT LOT 9 BLK 2	Grade and Pave Lighting	70.46 12.47	40.00 40.00	\$2,818.40 \$498.80	20-29-22-12-0128
*673 IOWA AVE E *Ward: 6		*** Taxpayer ***			\$3,317.20	
Lawrence J Michalitsch Trustee 671 Iowa Ave E St Paul MN 55106-1013 *673 IOWA AVE E *Ward: 6	UFTON GROVE, THIRD PLAT LOT 9 BLK 2	*** Owner ***				20-29-22-12-0128
Perfection Homes Llc 10800 66th St N Stillwater MN 55082-9528	SANTUCCI ADDITION W 24.82 FT OF LOT 3 & ALL OF LOT 4 BLK 1	Grade and Pave Lighting	70.46 12.47	74.00 74.00 =	\$5,214.04 \$922.78 \$6,136.82	20-29-22-11-0116
* <b>744 IOWA AVE E</b> *Ward: 6		*** Owner and Taxpayer *	***		\$4,150.0 <u>2</u>	
Richard A Johnson	SECTION 20 TOWN 29 RANGE 22 SUBJ	Grade and Pave		53.00	\$3,734.38	20-29-22-11-0057
747 Iowa Ave E St Paul MN 55106-1017	TO AVE THE W 53 FT OF E 212 97/10O FT OF S 165 43/10O FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20	Lighting	12.47	53.00	\$660.91 \$4,395.29	
* <b>747 IOWA AVE E</b> *Ward: 6	TN 29 RN 22	*** Owner and Taxpayer *	**			
Gust Sharffbillig 750 Iowa Ave E	SANTUCCI ADDITION EX W 24 82/100 FT LOT 3 AND EX E 17 FT LOT	Grade and Pave Lighting		57.00 57.00	\$4,016.22 \$710.79	20-29-22-11-0089
Saint Paul MN 55106-1018 * <b>750 IOWA AVE E</b>	2 BLK 1	*** Owner and Taxpayer *	**	=	\$4,727.01	

Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Resolution #:	•		Manager: LM	Page 2
<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	Quantity	Charge Amts	<b>Property ID</b>
SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 159 97/10O FT OF S 165 43/10O FT OF NE 1/4 OF	Grade and Pave Lighting			53.00 53.00	\$3,734.38 \$660.91	20-29-22-11-0056
SW 1/4 OF NE 1/4 OF NE 1/4 0F SEC 20 TN 29 RN 22	*** Owner and Taxpaye	5L ***		-	\$4,395.29	
SECTION 20 TOWN 29 RANGE 22 SUBJ	Grade and Pave			53.00	\$3,734.38	20-29-22-11-0055
FT OF S 165 43/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20			12.47	53.00	\$4,395.29	
11N 29 KN 22	*** Owner and Taxpaye	er ***				
SANTUCCI ADDITION E 17 FT OF LOT	Grade and Pave			67.00	\$4,720.82	20-29-22-11-0088
2 AND ALL OF LOT 1 BLK 1			12.47	67.00	\$5,556.31	
SECTION 20 TOWN 20 DANCE 22 SUDI	Cred and Days	_ — — — —	- — — 70 46		<del> </del>	
TO AVE S 165 FT MOL OF E 53 97/100 FT MOL OF NE 1/4 OF SW 1/4 OF NE	Lighting			54.00 =	\$673.38	20-29-22-11-0054
	*** Owner and Taxpaye	or ***			\$ ·, · · · · · · ·	
PHALEN VIEW EX E 14 FT LOT 4 AND ALL OF LOT 5 BLK 3	Grade and Pave Lighting			67.00 67.00	\$4,720.82 \$835.49	20-29-22-11-0084
				=	\$5,556.31	
	Property Description  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 159 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 106 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22  SANTUCCI ADDITION E 17 FT OF LOT 2 AND ALL OF LOT 1 BLK 1  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE S 165 FT MOL OF E 53 97/100 FT MOL OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22  PHALEN VIEW EX E 14 FT LOT 4 AND	Property Description  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 159 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 106 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF SEC 20 TN 29 RN 22  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 106 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF SEC 20 TN 29 RN 22  SANTUCCI ADDITION E 17 FT OF LOT 2 AND ALL OF LOT 1 BLK 1  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE S 165 FT MOL OF E 53 97/100 FT MOL OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22  PHALEN VIEW EX E 14 FT LOT 4 AND ALL OF LOT 5 BLK 3  Grade and Pave Lighting  *** Owner and Taxpayer  *** Owner and Taxpayer  Grade and Pave Lighting  *** Owner and Taxpayer  Grade and Pave Lighting  *** Owner and Taxpayer  Grade and Pave Lighting  *** Owner and Taxpayer	Ratification Date: Resolution #:  Item Description  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 159 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 106 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE THE W 53 FT OF E 106 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22  SANTUCCI ADDITION E 17 FT OF LOT 2 AND ALL OF LOT 1 BLK 1  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE S 165 FT MOL OF E 53 97/100 FT MOL OF NE 1/4 OF SEC 20 TN 29 RN 22  SECTION 20 TOWN 29 RANGE 22 SUBJ TO AVE S 165 FT MOL OF E 53 97/100 FT MOL OF NE 1/4 OF SEC 20 TN 29 RN 22  PHALEN VIEW EX E 14 FT LOT 4 AND Grade and Pave Lighting  *** Owner and Taxpayer ***  Grade and Pave Lighting  *** Owner and Taxpayer ***  Grade and Pave Lighting  *** Owner and Taxpayer ***	Ratification Date:   Resolution #:	Ratification Date:   Resolution #:	Ratification Date:   Resolution #:

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	ssmt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Va Megn Thoj 761 Iowa Ave E	PHALEN VIEW W 8 74/100 FT OF LOT 7 AND SUBJ TO ALLEY LOT 6 BLK 2	Grade and Pave Lighting	70.46 12.47	53.00 53.00	\$3,734.38 \$660.91	20-29-22-11-0053
St Paul MN 55106-1017  *761 IOWA AVE E  *Ward: 6		*** Owner and Taxpay	/er ***		\$4,395.29	
	PHALEN VIEW EX W 8 74/100 FT LOT 7 AND W 18 74/100 FT OF LOT 8 BLK	Grade and Pave Lighting		50.00 50.00	\$3,523.00 \$623.50	20-29-22-11-0052
Saint Paul MN 55106-1017 *765 IOWA AVE E *Ward: 6	2	*** Owner and Taxpay			\$4,146.50	
Chianeng Bill Vue Xee Xiong 768 Iowa Ave E Saint Paul MN 55106-1018 *768 IOWA AVE E *Ward: 6	PHALEN VIEW EX E 27 FT LOT 2 E 14 FT OF LOT 4 AND ALL OF LOT 3 BLK 3	Grade and Pave Lighting  *** Owner and Taxpay	70.46 12.47 ver ***	67.00 67.00	\$4,720.82 \$835.49 \$5,556.31	20-29-22-11-0083
Delphine A Voelker 201 Frank Ct E Maplewood MN 55109-1073 771 IOWA AVE E Ward: 6	PHALEN VIEW EX W 18 74/100 FT LOT 8 AND W 28 74/100 FT OF LOT 9 BLK 2	Grade and Pave Lighting  *** Owner and Taxpay	70.46 12.47 ver ***	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-11-0051
Billie Shoen 775 Iowa Ave E Saint Paul MN 55106-1017 *775 IOWA AVE E	PHALEN VIEW EX W 28 74/100 FT LOT 9 AND ALL OF LOT 10 BLK 2	Grade and Pave Lighting  *** Owner and Taxpay	70.46	51.00 51.00	\$3,593.46 \$635.97 \$4,229.43	20-29-22-11-0050

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 Assi Resolution #:	mt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Robert J Schally Ruth E Schally	PHALEN VIEW E 27 FT OF LOT 2 AND ALL OF LOT 1 BLK 3	Grade and Pave Lighting	70.46 12.47	67.00 67.00	\$4,720.82 \$835.49	20-29-22-11-0082
776 Iowa Ave E St Paul MN 55106-1018 * <b>776 IOWA AVE E</b> *Ward: 6		*** Owner and Taxpaye	r ***	•	\$5,556.31	
Trevor J Borgmeier Genevieve R Borgmeier	PHALEN VIEW EX E 13 33/100 FT LOT 4 AND ALL OF LOT 5 BLK 4	Grade and Pave Lighting	70.46 12.47	67.00 67.00	\$4,720.82 \$835.49	20-29-22-11-0072
9707 Janero Ct N Saint Paul MN 55115-1339 * <b>780 IOWA AVE E</b> *Ward: 6		*** Owner and Taxpaye	er ***	•	\$5,556.31	
Craig C Sanders Pa Cha Sanders 225 Hiller Rd	PHALEN VIEW W 26 67/100 FT OF LOT 7 AND OF LOT 6 BLK 1	Grade and Pave Lighting	70.46 12.47	67.00 67.00	\$4,720.82 \$835.49 \$5,556.31	20-29-22-11-0063
Chapin SC 29036-8577  781 IOWA AVE E  Ward: 6		*** Owner and Taxpaye	).L ***		<b>\$</b> 3,330.31	
	PHALEN VIEW EX E 26 66/100 FT LOT 2 E 13 33/100 FT OF LOT 4 AND ALL OF LOT 3 BLK 4	Grade and Pave Lighting	70.46 12.47	67.00 67.00	\$4,720.82 \$835.49	20-29-22-11-0071
*786 IOWA AVE E *Ward: 6		*** Taxpayer ***			\$5,556.31	
Mai N Lee Lee 786 Iowa Ave E St Paul MN 55106-1020	PHALEN VIEW EX E 26 66/100 FT LOT 2 E 13 33/100 FT OF LOT 4 AND ALL OF LOT 3 BLK 4	*** Owner ***				20-29-22-11-0071

\*786 IOWA AVE E

\*Ward: 6

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 Assn Resolution #:	nt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Stephen D Raba Lynn M Raba	PHALEN VIEW EX W 26 67/100 FT LOT 7 ALL OF LOT 8 AND W 13 34/100 FT OF LOT 9 BLK 1	Grade and Pave Lighting	70.46 12.47	67.00 67.00	\$4,720.82 \$835.49	20-29-22-11-0064
787 Iowa Ave E St Paul MN 55106-1019 * <b>787 IOWA AVE E</b> *Ward: 6		*** Owner and Taxpay	yer ***	•	\$5,556.31	
	PHALEN VIEW E 26 66/100 FT OF LOT 2 AND ALL OF LOT 1 BLK 4	Grade and Pave Lighting	70.46 12.47	67.00 67.00	\$4,720.82 \$835.49	20-29-22-11-0070
792 Iowa Ave E St Paul MN 55106-1020 ** <b>792 IOWA AVE E</b> *Ward: 6		*** Owner and Taxpay	yer ***	•	\$5,556.31	
Gary David Mckusky	PHALEN VIEW EX W 13 34/100 FT LOT 9 AND ALL OF LOT 10 BLK 1	Grade and Pave Lighting		<del>- 67</del> .00 67.00	\$4,720.82 \$835.49	20-29-22-11-0065
St Paul MN 55106-1019 6793 IOWA AVE E 6Ward: 6		*** Owner and Taxpay		:	\$5,556.31	
Leng B Wong Gloria Y Wong	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 9 BLK 4	Grade and Pave Lighting		30.00 30.00	\$2,113.80 \$374.10	20-29-22-42-0122
1321 Payne Ave St Paul MN 55130-3422		*** Owner and Taxpay	yer ***	:	\$2,487.90	

\*635 IVY AVE E

14:30:38 12/3/2013	Public Improvement Assessment Ro	•	Project: 19147 Assn Resolution #:	nt: 145201	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Donald D Boles 13615 Norelius Lane Lindstrom MN 55045-9450	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 13 & LOT 14 BLK 1	Grade and Pave Lighting	70.46 12.47	58.00 58.00	\$4,086.68 \$723.26 \$4,809.94	20-29-22-43-0218
*648 IVY AVE E *Ward: 6		*** Taxpayer ***				
Richard A Robinson Margaret M Robinson 648 Ivy Ave E St Paul MN 55106-1923 *648 IVY AVE E *Ward: 6	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 13 & LOT 14 BLK 1	*** Owner ***				20-29-22-43-0218
	HARRISON AND HANDY'S ADDITION	— Grade and Pave		65.00	\$4,579.90	20-29-22-13-0043
636 Montana Ave E St Paul MN 55130-3204 *636 MONTANA AVE E	TO THE CITY OF ST. PAUL N 55 FT MEASURED ON AVE OF LOTS 1 AND LOT 2 BLK 6	*** Owner and Taxpayer	12.47	65.00 =	\$810.55 \$5,390.45	
*Ward: 6						
Eugene John Keller Ann M Keller	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 16 FT OF	Grade and Pave Lighting	70.46 12.47	48.00 48.00	\$3,382.08 \$598.56	20-29-22-13-0014
651 Montana Ave E St Paul MN 55106-1021 *651 MONTANA AVE E *Ward: 6	LOT 16 AND W 32 FT OF LOT 17 BLK 1	*** Owner and Taxpayer		=	\$3,980.64	
Marilyn B Miller 654 E Montana Ave	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 11 AND ALL OF LOT 12 BLK 7	Grade and Pave Lighting		60.00	\$4,227.60 \$748.20	20-29-22-13-0063
St Paul MN 55106-1022				-	\$4,975.80	

\*\*\* Owner and Taxpayer \*\*\*

\*652 MONTANA AVE E

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	Quantity	Charge Amts	<b>Property ID</b>
Leroy N Chermak	HARRISON AND HANDY'S ADDITION	Grade and Pave	70.46	48.00	\$3,382.08	20-29-22-13-0015
Shirley A Chermak 555 Montana Ave E	TO THE CITY OF ST. PAUL EX W 32 FT LOT 17 AND ALL OF LOT 18 BLK 1	Lighting	12.47	48.00	\$598.56	
St Paul MN 55106-1021		*** Owner and Taxpaye	T ***		\$3,980.64	
655 MONTANA AVE E						
*Ward: 6						
	HARRISON AND HANDY'S ADDITION		<del>- 70.46</del>			20-29-22-13-0062
660 Montana Ave E	TO THE CITY OF ST. PAUL E 1/2 OF LOT 11 AND EX E 5 FT LOT 10 BLK 7	Lighting	12.47	55.00	\$685.85	
t Paul MN 55106-1022		that O LT	de de de	,	\$4,561.15	
F660 MONTANA AVE E Ward: 6		*** Owner and Taxpaye	.r ***			
oan A Macioch	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX E 30 FT	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-13-0016
61 Montana Ave E	LOT 20 AND ALL OF LOT 19 BLK 1	Lighting	12.47	50.00	\$623.50	
t Paul MN 55106-1021 6661 MONTANA AVE E Ward: 6		*** Owner and Taxpaye	r ***		\$4,146.50	
Carol V Glaser	HARRISON AND HANDY'S ADDITION	Grade and Pave	- — — — — <del></del>			
66 Montana Ave E	TO THE CITY OF ST. PAUL E 5 FT OF LOT 10 AND ALL OF LOT 9 BLK 7	Lighting	12.47	45.00	\$561.15	
aint Paul MN 55106-1022 <b>666 MONTANA AVE E</b>		*** Owner and Taxpaye	r ***	•	\$3,731.85	
Ward: 6						
Paul F Farley	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 30 FT OF	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-13-0017
67 Montana Ave E st Paul MN 55106-1021	LOT 2O AND W 1/2 OF LOT 21 BLK 1			30.00	\$4,146.50	
667 MONTANA AVE E		*** Owner and Taxpaye	r ***			

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt	: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Barbara S Arneson 670 Montana Ave	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 8 BLK 7	Grade and Pave Lighting		70.46 12.47	40.00 40.00	\$2,818.40 \$498.80	20-29-22-13-0060
St Paul MN 55106-1022  F670 MONTANA AVE E  SWard: 6		*** Owner and Taxpay	er ***			\$3,317.20	
Richard W Hansen	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 1/2 OF	Grade and Pave		70.46	56.00	\$3,945.76	20-29-22-13-0018
Linda R Troland 673 Montana Ave E	LOT 21 AND EX E 4 FT LOT 22 BLK 1	Lighting		12.47	56.00 =	\$698.32	
St Paul MN 55106-1021 *673 MONTANA AVE E *Ward: 6		*** Owner and Taxpay	er ***				
	HARRISON AND HANDY'S ADDITION	Grade and Pave		70.46	40.00	\$2,818.40	20-29-22-13-0059
Cia Moua 74 Montana Ave E	TO THE CITY OF ST. PAUL LOT 7 BLK 7	Lighting		12.47	40.00	\$498.80 \$3,317.20	
Saint Paul MN 55106-1022 *674 MONTANA AVE E *Ward: 6		*** Owner and Taxpay	er ***				
	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK	Grade and Pave		70.46	40.00	\$2,818.40	20-29-22-13-0058
Debra K Doerr  76 Montana Ave E	7	Lighting		12.47	40.00	\$498.80 \$3,317.20	
St Paul MN 55106-1022  F676 MONTANA AVE E  Ward: 6		*** Owner and Taxpay	er ***				
Theodore J Testen  Louise N L Testen	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL 4 FT OF LOT	Grade and Pave Lighting		70.46 12.47	64.00 64.00	\$4,509.44 \$798.08	20-29-22-13-0019
77 Montana Ave E st Paul MN 55106-1021	22 W 1/2 OF LOT 24 AND ALL OF LOT 23 BLK 1	*** Owner and Taxpay			=	\$5,307.52	

\*677 MONTANA AVE E

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 1	145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit R</u>	ate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Lou A Kotz Trustee Lou A Kotz 680 Montana Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 7	Grade and Pave Lighting		.46	40.00 40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-13-0057
Saint Paul MN 55106-1022  *680 MONTANA AVE E  *Ward: 6		*** Owner and Taxpayo	er ***			\$5,317.20	
Sandra Lee Bodin 681 Montana Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 1/2 OF	Grade and Pave Lighting			50.00 50.00	\$3,523.00 \$623.50	20-29-22-13-0020
St Paul MN 55106-1021 *681 MONTANA AVE E *Ward: 6	LOT 24 AND W 30 FT OF LOT 25 BLK 1	*** Owner and Taxpayo	5l. ***		=	\$4,146.50	
James T Frye Bridget A Frye	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 4 BLK	Grade and Pave Lighting			40.00 40.00	\$2,818.40 \$498.80	20-29-22-13-0056
684 Montana Ave E St Paul MN 55106-1022 *684 MONTANA AVE E *Ward: 6	7	*** Owner and Taxpayo			=	\$3,317.20	
Michael J Bertrand Wendy L Bertrand	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 10 FT OF	Grade and Pave Lighting			50.00 50.00	\$3,523.00 \$623.50	20-29-22-13-0021
687 Montana Ave E St Paul MN 55106-1021 *687 MONTANA AVE E *Ward: 6	LOT 25 AND ALL OF LOT 26 BLK 1	*** Owner and Taxpayo	5L ***		=	\$4,146.50	
Emily C Corcoran 7604 11th St N	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 3 BLK 7	Grade and Pave Lighting		.46 .47	40.00	\$2,818.40 \$498.80	20-29-22-13-0055
Saint Paul MN 55128-5864 *688 MONTANA AVE E	,	*** Owner and Taxpayo	er ***		=	\$3,317.20	

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Page :
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Catherine J Stott 693 Montana Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 27 BLK 1	Grade and Pave Lighting	70.46 12.47	40.00	\$2,818.40 \$498.80	20-29-22-13-0022
Saint Paul MN 55106-1021 *693 MONTANA AVE E *Ward: 6		*** Owner and Taxpaye	.t ***		\$3,317.20	
Eric Amundson Cheryl Johnson	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 2 BLK 7	Grade and Pave Lighting	70.46 12.47		\$2,818.40 \$498.80	20-29-22-13-0054
694 Montana Ave E Saint Paul MN 55106-1022 *694 MONTANA AVE E *Ward: 6	,	*** Owner and Taxpaye	.I. ***		\$3,317.20	
Blong Moua 697 Montana Ave E St Paul MN 55106-1021 *697 MONTANA AVE E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 28 BLK 1	Grade and Pave Lighting  *** Owner and Taxpaye	70.46 12.47	34.00 34.00	\$2,395.64 \$423.98 \$2,819.62	20-29-22-13-0023
Brad W Koons Karla J Anderson 698 Montana Ave E St Paul MN 55106-1022 *698 MONTANA AVE E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 1 BLK 7	Grade and Pave Lighting  *** Owner and Taxpaye	70.46 12.47	34.00 34.00	\$2,395.64 \$423.98 \$2,819.62	20-29-22-13-0053
Louise J Fratto 700 Montana Ave E St Paul MN 55106-1024	INGLESTON'S SUB. LOT 4	Grade and Pave Lighting	70.46 12.47	60.00	\$4,227.60 \$748.20 \$4,975.80	20-29-22-14-0017

\*\*\* Owner and Taxpayer \*\*\*

\*700 MONTANA AVE E

14:30:38 12/3/2013	Public Improvement Assessment R	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Pago
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rat	e Quantity	Charge Amts	<b>Property ID</b>
Sean M Savage	EKBERG'S SUBDIVISION W 13 FT OF	Grade and Pave			\$4,227.60	20-29-22-14-0007
Megan L Garrity	LOT 10 AND ALL OF LOT 9	Lighting	12.4	7 60.00	\$748.20	
701 Montana Ave E St Paul MN 55106-1023		*** Owner and Taxpa	vor ***		\$4,975.80	
*701 MONTANA AVE E		Owner and raxpa	yei · · ·			
*Ward: 6						
	EKBERG'S SUBDIVISION E 32 FT OF	Grade and Pave		6 — — — — — — — — — — — — — — — — — — —	\$3,875.30	
707 Montana Ave E	LOT 10 AND W 23 FT OF LOT 11	Lighting	12.4	7 55.00	\$685.85	
St Paul MN 55106-1023					\$4,561.15	
*707 MONTANA AVE E *Ward: 6		*** Owner and Taxpa	yer ***			
Frederick J Blees	INGLESTON'S SUB. LOT 3	Grade and Pave			\$2,818.40	20-29-22-14-0016
Karen M Blees		Lighting	12.4	7 40.00	\$498.80	
08 Montana Ave E		*** O 1.T	ماد ماد ماد		\$3,317.20	
t Paul MN 55106-1024 708 MONTANA AVE E Ward: 6		*** Owner and Taxpa	yer ***			
	INGLESTON'S SUB. LOT 2	Grade and Pave				
12 Montana Ave E		Lighting	12.4		\$498.80	20-27-22-14-0013
aint Paul MN 55106-1024					\$3,317.20	
Ward: 6		*** Owner and Taxpa	yer ***			
	EKBERG'S SUBDIVISION E 22 FT OF LOT 11 AND W 33 FT OF LOT 12	Grade and Pave Lighting			\$3,875.30 \$685.85	20-29-22-14-0009
Saint Paul MN 55106-1023		<u></u>	12.4	. 25.00	\$4,561.15	
*715 MONTANA AVE E		*** Owner and Taxpa	yer ***		ψτ,501.13	

14:30:38 12/3/2013	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Page 30
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Mark R Bollman	INGLESTON'S SUB. LOT 1	Grade and Pave	70.46	40.00	\$2,818.40	20-29-22-14-0014
718 Montana Ave E St Paul MN 55106-1024		Lighting	12.47	40.00	\$498.80	
*718 MONTANA AVE E		*** Owner and Taxpaye	ar ***		\$3,317.20	
*Ward: 6		o mier and rampaye	•			
	EKBERG'S SUBDIVISION E 12 FT OF			57.00		20-29-22-14-0010
721 Montana Ave E	LOT 12 AND ALL OF LOT 13	Lighting	12.47	57.00	\$710.79	
St Paul MN 55106-1023 * <b>721 MONTANA AVE E</b>		*** Owner and Taxpaye	er ***	•	\$4,727.01	
*Ward: 6						
Elizabeth Fawley	NETZEL'S SUBDIVISION LOT 4	Grade and Pave	70.46		\$2,959.32	20-29-22-14-0025
724 Montana Ave E		Lighting	12.47	42.00	\$523.74	
St Paul MN 55106-1024 * <b>724 MONTANA AVE E</b>		*** Owner and Taxpaye	er ***	•	\$3,483.06	
*Ward: 6		1,7				
	EKBERG'S SUBDIVISION LOT 14	Grade and Pave	70.46			20-29-22-14-0011
725 Montana Ave E		Lighting	12.47	45.00	\$561.15	
St Paul MN 55106-1023 *725 MONTANA AVE E		*** Owner and Taxpaye	er ***		\$3,731.85	
*Ward: 6						
James G Lockwood	NETZEL'S SUBDIVISION LOT 3	Grade and Pave	70.46	42.00	\$2,959.32	20-29-22-14-0024
Heather M Lockwood 728 Montana Ave E		Lighting	12.47	42.00	\$523.74 \$3,483.06	
St Paul MN 55106-1024		*** Owner and Taxpaye	er ***		фэ, <del>ч</del> оэ.00	

14:30:38 12/3/2013	Public Improvement Assessment I	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt	: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit l</u>	Rate	Quantity	Charge Amts	<b>Property ID</b>
Michael A Bergthold Kimberly A Bergthold	EKBERG'S SUBDIVISION LOT 15	Grade and Pave Lighting		2.47	45.00 45.00	\$3,170.70 \$561.15	20-29-22-14-0012
731 Montana Ave E St Paul MN 55106-1023 *731 MONTANA AVE E *Ward: 6		*** Owner and Taxpa	yer ***			\$3,731.85	
Karl Wirth Anne E Nelson 732 Montana Ave E	NETZEL'S SUBDIVISION LOT 2	Grade and Pave Lighting			50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0023
St Paul MN 55106-1024 * <b>732 MONTANA AVE E</b> *Ward: 6		*** Owner and Taxpa	yer ***				
Scott D Hall Jane E Hall 735 Montana Ave	EKBERG'S SUBDIVISION LOT 16	Grade and Pave Lighting		0.46 2.47	45.00 45.00	\$3,170.70 \$561.15 \$3,731.85	20-29-22-14-0013
St Paul MN 55106-1023 *735 MONTANA AVE E *Ward: 6		*** Owner and Taxpa	yer ***			\$3,731.83	
Bernice M Dumont Brodeur 736 Montana Ave E	NETZEL'S SUBDIVISION LOT 1	Grade and Pave Lighting		0.46 2.47	48.00	\$3,382.08 \$598.56	20-29-22-14-0022
Saint Paul MN 55106-1024 * <b>736 MONTANA AVE E</b> *Ward: 6		*** Owner and Taxpa	yer ***		=	\$3,980.64	
Kurt B Eckman Lisa Eckman	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. EX E 132 FT THE W 1/2 OF S 1/2 OF BLK 2	Grade and Pave Lighting			68.00 68.00	\$4,791.28 \$847.96	20-29-22-14-0056
741 Montana Ave E St Paul MN 55106-1025		*** Owner and Taxpa	yer ***		_	\$5,639.24	

\*741 MONTANA AVE E

4:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 Assr Resolution #:	nt: 145201	Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Mary V Costello	SPINNER'S ADDITION LOT 8	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0064	
42 Montana Ave E		Lighting	12.47	50.00	\$623.50		
t Paul MN 55106-1026		*** 0 1.T	***	_	\$4,146.50		
<b>742 MONTANA AVE E</b> Ward: 6		*** Owner and Taxpaye	1 ***				
	SPINNER'S ADDITION LOT 7	Grade and Pave				20-29-22-14-0063	
94 Iowa Ave E		Lighting	12.47	50.00	\$623.50		
aint Paul MN 55130-3027				=	\$4,146.50		
<b>TA46 MONTANA AVE E</b> Ward: 6		*** Owner and Taxpaye	L ***				
.awrence J Kalina	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. W 70 FT OF E 132 FT OF	Grade and Pave	70.46	70.00	\$4,932.20	20-29-22-14-0055	
Marilyn E Nelson	S 1/2 OF W 1/2 OF BLK 2	Lighting	12.47	70.00	\$872.90		
49 Montana Ave E t Paul MN 55106-1025		*** Owner and Taxpayer	r ***		\$5,805.10		
749 MONTANA AVE E Ward: 6		Owner and ruxpaye.					
	SPINNER'S ADDITION LOT 6	Grade and Pave	70.46		\$3,523.00	20-29-22-14-0062	
ammy L Barabash		Lighting	12.47	50.00	\$623.50		
52 Montana Ave E				_	\$4,146.50		
t Paul MN 55106-1026 <b>752 MONTANA AVE E</b>		*** Owner and Taxpayer	r ***				
Ward: 6							
Steven M Adams	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. E 62 FT OF S 1/2 OF W 1/2	Grade and Pave	70.46	62.00	\$4,368.52	20-29-22-14-0054	
Catherine L Goffin 55 Montana Ave	OF BLK 2	Lighting	12.47	62.00	\$773.14 \$5,141.66		
t Paul MN 55106-1025		*** Owner and Taxpayer	r ***				

\*755 MONTANA AVE E

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Ra	te Quanti	ty Charge Amts	<b>Property ID</b>
Ronald R Lahr	SPINNER'S ADDITION LOT 5	Grade and Pave	70.		. ,	20-29-22-14-0061
Carol L Lahr		Lighting	12.	47 50.0		
756 Montana Ave E					\$4,146.50	
St Paul MN 55106-1026		*** Owner and Taxpaye	er ***			
*756 MONTANA AVE E *Ward: 6						
John M Mulcahy	B. SCHNITIZIUS ADDITION TO ST.	Grade and Pave		46 — — 85.0		
Loubaba Mulcahy	PAUL, MINN. EX E 115 FT AND EX N 110 FT THE E 1/2 OF BLK 2	Lighting	12	47 85.0		20 27 22 11 0000
761 Montana Ave E	HOFT THE E 1/2 OF BLK 2				\$7,049.05	
St Paul MN 55106-1025		*** Owner and Taxpaye	er ***			
*761 MONTANA AVE E						
*Ward: 6						
	SPINNER'S ADDITION LOT 4	Grade and Pave		46 — — 50.0	\$3,523.00	
Tennie M Elstad		Lighting	12.	47 50.0	00 \$623.50	
890 Sherren Ave E Unit 105					\$4,146.50	
Maplewood MN 55109-2713		*** Owner and Taxpayo	er ***			
* <b>762 MONTANA AVE E</b> *Ward: 6						
ohn F Riehle	SPINNER'S ADDITION LOT 3	Grade and Pave	70.		. ,	20-29-22-14-0059
766 Montana St		Lighting	12.	47 50.0		
Saint Paul MN 55106-1026		*** O 1 T	***		\$4,146.50	
<b>766 MONTANA AVE E</b> Ward: 6		*** Owner and Taxpayo	ei ···			
	B. SCHNITIZIUS ADDITION TO ST.	Grade and Pave		46 — — 75.0		
769 Montana Ave E St Paul MN 55106-1025	PAUL, MINN. W 75 FT OF E 115 FT OF S 1/2 OF BLK 2 AND S 10 FT W 65 FT OF E 115 FT OF N 1/2 OF BLK 2	Lighting	12.	47 75.0	\$935.25	
*769 MONTANA AVE E		*** Owner and Taxpaye	er ***		, , ,	

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt:	145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit F</u>	Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Brynnetta G Benner Bradford G Benner	SPINNER'S ADDITION LOT 2	Grade and Pave Lighting		0.46 2.47	50.00	\$3,523.00 \$623.50	20-29-22-14-0058
770 Montana Ave E					=	\$4,146.50	
St Paul MN 55106-1026		*** Owner and Taxpay	/er ***			, ,	
*770 MONTANA AVE E  *Ward: 6							
Jordan M Robertson	B. SCHNITIZIUS ADDITION TO ST.	Grade and Pave		0.46		\$2,818.40	20-29-22-14-0051
Aimee M Robertson	PAUL, MINN. E 4O FT OF S 1/2 OF BLK 2	Lighting	12	2.47	40.00	\$498.80	
775 Montana Ave E St Paul MN 55106-1025 * <b>775 MONTANA AVE E</b>		*** Owner and Taxpay	/er ***			\$3,317.20	
Jeffrey C Olsen 776 Montana Ave E Saint Paul MN 55106-1026 *776 MONTANA AVE E *Ward: 6	SPINNER'S ADDITION LOT 1	Grade and Pave Lighting  *** Owner and Taxpay	12	0.46 — 2.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0057
Thomas J Curtis	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 2 BLK 1	Grade and Pave		0.46	<del>62</del> .00	\$4,368.52	20-29-22-14-0111
ulie D Curtis /81 Montana Ave E st Paul MN 55106-1045	TAOL, MINN, EOT 2 DEX 1	Lighting  *** Owner and Taxpay		2.47	62.00	\$773.14 \$5,141.66	
*781 MONTANA AVE E *Ward: 6		o					
Kristin R Vinson  James H Vinson	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 1 BLK 6	Grade and Pave Lighting			62.00 62.00	\$4,368.52 \$773.14	20-29-22-14-0112
782 Montana Ave E Saint Paul MN 55106-1046		*** Owner and Taxpay			=	\$5,141.66	

\*782 MONTANA AVE E

14:30:38 12/3/2013	<b>Public Improvement Assessment</b>	Roll by Address Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Page 35
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Anthony Escobedo 787 Montana Ave E	LAKE PHALEN ADDITION LOT 7 BLK 1	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0110
Saint Paul MN 55106-1045 *787 MONTANA AVE E *Ward: 6		*** Owner and Taxpa	ver ***		\$4,146.50	
Heather Herzfeldt 788 Montana Ave E Saint Paul MN 55106-1046	LAKE PHALEN ADDITION LOT 6 BLK 2	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0113
*788 MONTANA AVE E *Ward: 6		*** Owner and Taxpa	/er ***		.,	
Emily A Campbell 791 Montana Ave E	LAKE PHALEN ADDITION LOT 8 BLK 1	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0109
St Paul MN 55106-1045 * <b>791 MONTANA AVE E</b> *Ward: 6		*** Owner and Taxpa		30.00	\$4,146.50	
John W Poulos Susan L Poulos 792 Montana Ave E	LAKE PHALEN ADDITION LOT 5 BLK 2	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0114
St Paul MN 55106-1046 * <b>792 MONTANA AVE E</b> *Ward: 6		*** Owner and Taxpa	/er ***		94,140.30	
Jennifer L Cichon Christopher W Cichon 797 Montana Ave E	LAKE PHALEN ADDITION LOT 9 BLK 1	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0108
Saint Paul MN 55106-1045		*** Owner and Taxpay	/er ***		,	

\*797 MONTANA AVE E

4:30:38 12/3/2013	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Douglas S Dorner	LAKE PHALEN ADDITION LOT 4	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0115	
Betty J Dorner	BLK 2	Lighting	12.47	50.00	\$623.50		
98 Montana Ave E It Paul MN 55106-1046		*** Owner and Taxpay			\$4,146.50		
798 MONTANA AVE E		Owner and Taxpay	yei · · ·				
*Ward: 6							
	LAKE PHALEN ADDITION LOT 10		70.46	50.00	\$3,523.00		
03 Montana Ave E	BLK 1	Lighting	12.47	50.00	\$623.50		
aint Paul MN 55106-1045				-	\$4,146.50		
*Ward: 6		*** Owner and Taxpay	yer ***				
	LAKE PHALEN ADDITION LOT 3	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0116	
04 Montana Ave E	BLK 2	Lighting	12.47	50.00	\$623.50		
t Paul MN 55106-1046		*** 0 1.T	***		\$4,146.50		
<b>:804 MONTANA AVE E</b> :Ward: 6		*** Owner and Taxpay	yer ***				
	LAKE PHALEN ADDITION LOT 2		70.46	50.00	\$3,523.00		
Edward P Cordes	BLK 2	Lighting	12.47	50.00	\$623.50		
08 Montana Ave E		**** 0 17	al all all	•	\$4,146.50		
t Paul MN 55106-1046 808 MONTANA AVE E		*** Owner and Taxpay	yer ***				
Ward: 6							
Daniel Schluter	LAKE PHALEN ADDITION LOT 11 BLK 1	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0106	
Debra Schluter	DLK 1	Lighting	12.47	50.00	\$623.50		
09 Montana Ave E aint Paul MN 55106-1045		*** Owner and Taxpay	ver ***		\$4,146.50		
Janu 1 au 1911 33100-1043		Owner and raxpay	y C1				

\*809 MONTANA AVE E

4:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Resolution #:			Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Nickolas J Wiese Charissa L Wiese 814 Montana Ave E	LAKE PHALEN ADDITION LOT 1 BLK 2	Grade and Pave Lighting		70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0118	
*814 MONTANA AVE E *Ward: 6		*** Owner and Taxpa	yer ***			54,140.50		
James R Mcdonough Carol M Mcdonough	LAKE PHALEN ADDITION LOT 12 BLK 1	Grade and Pave Lighting		70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0105	
815 Montana Ave E St Paul MN 55106-1045 *815 MONTANA AVE E *Ward: 6		*** Owner and Taxpa	yer ***		•	\$4,146.50		
Joshua J Cirilo 632 Nebraska Ave E Saint Paul MN 55130-3206 *632 NEBRASKA AVE E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOTS 18 AND LOT 19 BLK 11	Grade and Pave Lighting  *** Owner and Taxpa	Ver ***	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60 \$6,634.40	20-29-22-13-0106	
*Ward: 6		o mor and range	, 0.					
Gregory Gibeau Ruth D Gibeau	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL N 1/2 OF	Grade and Pave Lighting		70.46 12.47	62.00 62.00	\$4,368.52 \$773.14	20-29-22-13-0086	
2327 Donegal Way Hudson WI 54016-9121 *644 NEBRASKA AVE E *Ward: 6	LOT 13 14 AND LOT 15 BLK 12	*** Owner and Taxpa	yer ***		:	\$5,141.66		
Faith Temple Assembly Of God 1510 Payne Avenue	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOTS 16 17 18 AND LOT 19 BLK 7	Grade and Pave Lighting		70.46 12.47	125.00 125.00	\$8,807.50 \$1,558.75	20-29-22-13-0066	
St Paul MN 55130-3217 *6 <b>51 NEBRASKA AVE E</b>	· · · · · · · · · · · · · · · · · · ·	*** Owner and Taxpa	yer ***		•	\$10,366.25		

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Resolution #:			Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Peter F Franco Delores M Franco 652 Nebraska Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 12	Grade and Pave Lighting		70.46 12.47	40.00 40.00	\$2,818.40 \$498.80	20-29-22-13-0085	
*652 NEBRASKA AVE E  *Ward: 6		*** Owner and Taxpa	yer ***			\$3,317.20		
Thomas D Tate 655 Nebraska Ave E St Paul MN 55106-1725	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 20 BLK 7	Grade and Pave Lighting		- — — 70.46 12.47	40.00	\$2,818.40 \$498.80 \$3.317.20	20-29-22-13-0067	
*655 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpa	yer ***					
Daniel A Chevrette Roberta L Chevrette	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 11	Grade and Pave Lighting		70.46 12.47	- — <del>40.00</del> 40.00	\$2,818.40 \$498.80	20-29-22-13-0084	
658 Nebraska Ave E  St Paul MN 55106-1726  *658 NEBRASKA AVE E  *Ward: 6	BLK 12	*** Owner and Taxpa		,	=	\$3,317.20		
Scott Langeberg Heidi Langeberg	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 21 BLK 7	Grade and Pave Lighting		- <u> </u>	40.00	\$2,818.40 \$498.80	20-29-22-13-0068	
8224 Kentucky Cir Bloomington MN 55438-1249 *661 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpa	yer ***			\$3,317.20		
Jeanne M Fehr 662 Nebraska Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 10 BLK 12	Grade and Pave Lighting		70.46 12.47	40.00	\$2,818.40 \$498.80	20-29-22-13-0083	
St Paul MN 55106-1726 *662 NEBRASKA AVE E		*** Owner and Taxpa	yer ***			\$3,317.20		

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address  Ratification Date:	Project: 19147 Resolution #:	· ·		Manager: LM	Page 3	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	Quantity	Charge Amts	Property ID	
Curtis R Oslund 2000 Greenbrier St	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 9 BLK 12	Grade and Pave Lighting		70.46 12.47	40.00 40.00	\$2,818.40 \$498.80	20-29-22-13-0082	
Maplewood MN 55117-2216 *664 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpay	ver ***			\$3,317.20		
Sharon Jean Heimel 665 Nebraska Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 22	Grade and Pave Lighting		70.46 12.47	- — <del>4</del> 0.00 40.00	\$2,818.40 \$498.80	20-29-22-13-0069	
St Paul MN 55106-1725 *665 NEBRASKA AVE E *Ward: 6	BLK 7	*** Owner and Taxpay	/er ***		:	\$3,317.20		
	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 23	— Grade and Pave Lighting		70.46 12.47	40.00 40.00	- — — \$2,818.40 \$498.80	20-29-22-13-0070	
669 Nebraska Ave E St Paul MN 55106-1725 *669 NEBRASKA AVE E	BLK 7	*** Owner and Taxpay	/er ***		:	\$3,317.20		
*Ward: 6  Carla Rubin De Celis 670 Nebraska Ave E Saint Paul MN 55106-1726	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 8 BLK 12	— Grade and Pave Lighting		70.46 12.47	40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-13-0081	
*670 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpay	/er ***			\$5,517.20		
Karen A Finnegan 673 Nebraska Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 24 BLK 7	Grade and Pave Lighting		70.46 12.47	40.00	\$2,818.40 \$498.80	20-29-22-13-0163	
Saint Paul MN 55106-1725 *673 NEBRASKA AVE E		*** Owner and Taxpay	/er ***			\$3,317.20		

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assm	t: 145201	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Robert Carlson 674 Nebraska Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 7 BLK 12	Grade and Pave Lighting		70.46 12.47	40.00 40.00	\$2,818.40 \$498.80	20-29-22-13-0080
St Paul MN 55106-1726 *674 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpa	nyer ***			\$3,317.20	
Simone Zazama Gbolo 677 Nebraska Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 25 BLK 7	Grade and Pave Lighting		70.46 12.47	40.00	\$2,818.40 \$498.80	20-29-22-13-0164
Saint Paul MN 55106-1725 *677 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpa	nyer ***		•	\$3,317.20	
	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOTS 5	Grade and Pave Lighting		70.46 12.47	80.00 80.00	\$5,636.80 \$997.60	20-29-22-13-0079
St Paul MN 55102-1623 *680 NEBRASKA AVE E *Ward: 6	AND LOT 6 BLK 12	*** Owner and Taxpa	ıyer ***		:	\$6,634.40	
Bruce J Engelbrekt Migdalia Aviles	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 26	Grade and Pave Lighting		70.46 12.47	40.00 40.00	\$2,818.40 \$498.80	20-29-22-13-0072
681 Nebraska Ave E St Paul MN 55106-1725 *681 NEBRASKA AVE E *Ward: 6	BLK 7	*** Owner and Taxpa	ıyer ***		•	\$3,317.20	
Sarah J Whatley 684 Nebraska Ave E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL THE W 2 FT OF LOT 3 & ALL OF LOT 4 BLK 12	Grade and Pave Lighting		70.46 12.47	42.00 42.00	\$2,959.32 \$523.74	20-29-22-13-0182
St Paul MN 55106-1726 *684 NEBRASKA AVE E	OI DOLLAR ALLOI DOLLA IZ	*** Owner and Taxpa	nyer ***		:	\$3,483.06	

14:30:38 12/3/2013	Public Improvement Assessment R	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assm	t: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	t Rate	<b>Quantity</b>	Charge Amts	Property ID
Weston O Musachio Amanda L Champ 685 Nebraska Ave E St Paul MN 55106-1725 *685 NEBRASKA AVE E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 27 BLK 7	Grade and Pave Lighting  *** Owner and Taxpaye		70.46 12.47	40.00 40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-13-0073
Thomas H Reppe Ann M Reppe 688 Nebraska Av E St Paul MN 55106-1726 *688 NEBRASKA AVE E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL THE W 1/2 OF LOT 2 & EX THE W 2 FT OF LOT 3 BLK 12	Grade and Pave Lighting  *** Owner and Taxpaye			58.00 58.00	\$4,086.68 \$723.26 \$4,809.94	20-29-22-13-0181
Bryan J Lloyd Amy L Lloyd 689 Nebraska Ave E St Paul MN 55106-1725 *689 NEBRASKA AVE E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 29 AND ALL OF LOT 28 BLK 7	Grade and Pave Lighting  *** Owner and Taxpaye		70.46 12.47	60.00	\$4,227.60 \$748.20 \$4,975.80	20-29-22-13-0074
Troy D Hall Corazon Hall 695 Nebraska Ave Saint Paul MN 55106-1725 *695 NEBRASKA AVE E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 1/2 OF LOT 29 AND ALL OF LOT 30 BLK 7	Grade and Pave Lighting  *** Owner and Taxpaye		70.46 12.47	54.00 54.00	\$3,804.84 \$673.38 \$4,478.22	20-29-22-13-0075
Victor Maas 696 Nebraska Ave E St Paul MN 55106-1726 *696 NEBRASKA AVE E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 1/2 OF LOT 2 AND ALL OF LOT 1 BLK 12	Grade and Pave Lighting  *** Owner and Taxpaye		70.46 12.47	54.00 54.00	\$3,804.84 \$673.38 \$4,478.22	20-29-22-13-0076

14:30:38 12/3/2013	Public Improvement Assessmen	t Roll by Address Ratification Date:	Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Pago
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Allen E Ostertag	INGLESTON'S SUB. LOT 5	Grade and Pave	70.46	60.00	\$4,227.60	20-29-22-14-0018
Ruth R Ostertag		Lighting	12.47	60.00	\$748.20	
703 Nebraska Ave E				•	\$4,975.80	
St Paul MN 55106-1727		*** Owner and Taxpay	ver ***			
*703 NEBRASKA AVE E *Ward: 6						
Lindsey M Clevenger	THOLEN SUBDIVISION LOT 7					20-29-22-14-0036
95 5th St E Apt 1805		Lighting	12.47	63.00	\$785.61	20-27-22-14-0030
aint Paul MN 55101-2967				=	\$5,224.59	
<b>*704 NEBRASKA AVE E</b> *Ward: 6		*** Owner and Taxpay	/er ***			
	INGLESTON'S SUB. LOT 6	Grade and Pave	70.46		\$2,888.86	20-29-22-14-0019
Iarlon Naysmith		Lighting	12.47	41.00	\$511.27	
05 Nebraska Ave E				•	\$3,400.13	
t Paul MN 55106-1727		*** Owner and Taxpay	ver ***			
705 NEBRASKA AVE E Ward: 6						
	THOLEN SUBDIVISION LOT 6					20-29-22-14-0035
08 Nebraska Ave E		Lighting	12.47	50.00	\$623.50	_, _, _, _,
t Paul MN 55106-1728				-	\$4,146.50	
708 NEBRASKA AVE E Ward: 6		*** Owner and Taxpay	/er ***			
Gloria D Matushak	INGLESTON'S SUB. LOT 7	Grade and Pave Lighting	70.46 12.47	41.00 41.00	\$2,888.86 \$511.27	20-29-22-14-0020
11 Nebraska Ave E It Paul MN 55106-1727		Lighting	12.47	41.00		
711 NEBRASKA AVE E		*** Owner and Taxpay	/er ***		\$3,400.13	
III MEDINASINA AV E E		O when and raxpay	, <del>~ .</del>			

14:30:38 12/3/2013	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt:	145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit F</u>	Rate	Quantity	Charge Amts	<b>Property ID</b>
Peter J Hurley	THOLEN SUBDIVISION LOT 5	Grade and Pave Lighting			50.00	\$3,523.00 \$623.50	20-29-22-14-0034
Christina M Hurley '12 Nebraska Ave E		Lighting	12	2.47	30.00	\$4,146.50	
Saint Paul MN 55106-1728		*** Owner and Taxpa	ver ***			\$4,140.30	
712 NEBRASKA AVE E		1					
Ward: 6							
	INGLESTON'S SUB. LOT 8			<u> </u>			
Ella F Bucheger		Lighting	12	2.47	41.00	\$511.27	20 27 22 11 0021
15 Nebraska Ave					=	\$3,400.13	
Saint Paul MN 55106-1727		*** Owner and Taxpa	yer ***				
**************************************							
Michelle M Vadnais	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. EX N 10 FT FOR ALLEY	Grade and Pave		<u> </u>	40.00	\$2,818.40	20-29-22-14-0026
19 Nebraska Ave E	W 40 FT OF S 1/2 OF E 1/2 OF BLK 4	Lighting	12	2.47	40.00	\$498.80	
Saint Paul MN 55106-1727  F719 NEBRASKA AVE E		*** Owner and Taxpa	uer ***			\$3,317.20	
*Ward: 6		Owner and Taxpa	yei				
	THOLEN SUBDIVISION LOT 4	Grade and Pave		<u> </u>		\$3,523.00	20-29-22-14-0033
ina Bayonet		Lighting	12	2.47	50.00	\$623.50	
20 Nebraska Ave E					-	\$4,146.50	
aint Paul MN 55106-1728		*** Owner and Taxpa	yer ***				
<b>720 NEBRASKA AVE E</b> Ward: 6							
Ladonna Osborne	B. SCHNITIZIUS ADDITION TO ST.	Grade and Pave			41.00	\$2,888.86	20-29-22-14-0027
25 Nebraska Ave E	PAUL, MINN. EX N 10 FT FOR ALLEY E 41 FT OF W 81 FT OF S 1/2 OF E 1/2	Lighting	12	2.47	41.00	\$511.27	
t Paul MN 55106-1727 725 NEBRASKA AVE E	OF BLK 4	*** Owner and Taxpa	uer ***			\$3,400.13	
125 NEBKASKA AVE E		Owner and raxpa	yer				

14:30:38 12/3/2013	Public Improvement Assessment F		Project: 19147 Assm Resolution #:	nt: 145201	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
fulie K Plageman 726 Nebraska Ave E	THOLEN SUBDIVISION LOT 3	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0032
St Paul MN 55106-1728  *726 NEBRASKA AVE E  *Ward: 6		*** Owner and Taxpayer	***	=	\$4,146.50	
Derek A Lamparty	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. EX N 10 FT FOR ALLEY	Grade and Pave Lighting		50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0028
Tracy N Lamparty 29 Nebraska Ave E st Paul MN 55106-1727	E 50 FT OF W 131 FT OF S 1/2 OF E 1/2  Ave E OF BLK 4	*** Owner and Taxpayer		=	\$4,146.50	
729 NEBRASKA AVE E Ward: 6						
	THOLEN SUBDIVISION LOT 2	Grade and Pave Lighting		50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0031
t Paul MN 55106-1728  730 NEBRASKA AVE E  Ward: 6		*** Owner and Taxpayer		=	\$4,146.50	
	B. SCHNITIZIUS ADDITION TO ST.	Grade and Pave		51.00	\$3,593.46	20-29-22-14-0029
ugh R Obrien 607 Lyte St Apt 107g allas TX 75201-1684	PAUL, MINN. EX N 10 FT FOR ALLEY AND EX W 131 FT E 1/2 OF S 1/2 OF BLK 4	Lighting  *** Owner and Taxpayer	12.47	51.00	\$635.97 \$4,229.43	
<b>735 NEBRASKA AVE E</b> Ward: 6						
Diane C Macioch 736 Nebraska Ave E	THOLEN SUBDIVISION LOT 1	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0030
St Paul MN 55106-1728				=	\$4,146.50	

\*\*\* Owner and Taxpayer \*\*\*

\*736 NEBRASKA AVE E

14:30:38 12/3/2013	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Ra</u>	te Quantit	<u>Charge Amts</u>	Property ID
Marc A Sloot	SPINNER'S ADDITION LOT 9	Grade and Pave	70.4			20-29-22-14-0065
Elizabeth Jo Sloot		Lighting	12.4	17 50.0		
741 Nebraska Ave E St Paul MN 55106-1729		*** O T	***		\$4,146.50	
*741 NEBRASKA AVE E		*** Owner and Taxpa	yer ***			
*Ward: 6						
Wang G Chang	EICHENLAUB ADDITION ST. PAUL,	 Grade and Pave		<del></del>		
Mai H Vang	MINN. LOT 8	Lighting	12.4	50.0	0 \$623.50	
742 Nebraska Ave E					\$4,146.50	
Saint Paul MN 55106-1730		*** Owner and Taxpa	yer ***			
*742 NEBRASKA AVE E *Ward: 6						
· waid. 6						
Andrea E Manos	EICHENLAUB ADDITION ST. PAUL,	Grade and Pave	70.4	46 50.0	\$3,523.00	20-29-22-14-0079
Michael A Manos	MINN. LOT 7	Lighting	12.4	17 50.0	9623.50	
446 Nebraska Ave E					\$4,146.50	
St Paul MN 55106-1730		*** Owner and Taxpa	yer ***			
* <b>746 NEBRASKA AVE E</b> *Ward: 6						
Shirley A Sopkiewicz	SPINNER'S ADDITION LOT 10	 Grade and Pave		<del></del>		
747 Nebraska Ave E		Lighting	12.4		· · · · · · · · · · · · · · · · · · ·	20-29-22-14-0000
St Paul MN 55106-1729					\$4,146.50	
747 NEBRASKA AVE E		*** Owner and Taxpa	yer ***		<b>,</b>	
Ward: 6						
Todd D Tessmer	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 6	Grade and Pave	70.4		· · · · · · · · · · · · · · · · · · ·	20-29-22-14-0078
752 Nebraska Ave E	WHNN, LOT 0	Lighting	12.4	17 50.0		
St Paul MN 55106-1730		*** O 1 T	***		\$4,146.50	
<sup>4</sup> 752 NEBRASKA AVE E		*** Owner and Taxpa	yei ***			

14:30:38 12/3/2013	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rat	<u>Quantity</u>	Charge Amts	<b>Property ID</b>
Gerald A Davis	SPINNER'S ADDITION LOT 11	Grade and Pave	70.4		\$3,523.00	20-29-22-14-0067
753 Nebraska Ave E		Lighting	12.4	7 50.00	\$623.50	
Saint Paul MN 55106-1729 *753 NEBRASKA AVE E		*** Owner and Taxpa	var ***		\$4,146.50	
*Ward: 6		Owner and Taxpa	yCi			
Caroline B Morrison	EICHENLAUB ADDITION ST. PAUL,	Grade and Pave	70.4	5 - 50.00	\$3,523.00	20-29-22-14-0077
Jared P Pennoyer	MINN. LOT 5	Lighting	12.4	7 50.00	\$623.50	
756 Nebraska Ave E					\$4,146.50	
Saint Paul MN 55106-1730 *756 NEBRASKA AVE E		*** Owner and Taxpa	yer ***			
*Ward: 6						
Jennifer L Whitwam 757 Nebraska Ave Saint Paul MN 55106-1729 *757 NEBRASKA AVE E	SPINNER'S ADDITION LOT 12	Grade and Pave Lighting  *** Owner and Taxpa	70.4 12.4 yer ***		\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0068
*Ward: 6	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 4	Grade and Pave			\$3,523.00	
760 Nebraska Ave E St Paul MN 55106-1730	MINN. EOT 4	Lighting	12.4	7 50.00	\$623.50	
*760 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpa	yer ***		\$4,146.50	
	SPINNER'S ADDITION LOT 13	Grade and Pave		$\frac{1}{5}$ — $\frac{1}{50.00}$	\$3,523.00	
Jennie Olsen Sartain		Lighting	12.4	7 50.00	\$623.50	V = 2 = 1 · VVV
761 Nebraska Ave E		**** 0	delicate		\$4,146.50	
St Paul MN 55106-1729		*** Owner and Taxpa	yer ***			

\*761 NEBRASKA AVE E

14:30:38 12/3/2013	Public Improvement Assessment I	Roll by Address Ratification Date:	Project: 19147 A	ssmt: 145201	Manager: LM	Page ·
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Jesse Garcia 766 East Nebraska	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 3	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0075
St Paul MN 55106-1730					\$4,146.50	
*766 NEBRASKA AVE E		*** Owner and Taxpay	er ***			
*Ward: 6						
	SPINNER'S ADDITION LOT 14		70.46		\$3,523.00	20-29-22-14-0070
767 Nebraska Ave E		Lighting	12.47	50.00	\$623.50	
St Paul MN 55106-1729		tht 0 17	de de de		\$4,146.50	
*767 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpay	er ***			
Krista A Dufresne	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 2	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0074
770 Nebraska Ave E	MINN. LOT 2	Lighting	12.47	50.00	\$623.50	
*770 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpay	er ***		\$4,146.50	
Kirkwood Free Llc	SPINNER'S ADDITION LOT 15				\$3,523.00	
4210 W 44th St		Lighting	12.47	50.00	\$623.50	_, _,,
Minneapolis MN 55424-1037 *771 NEBRASKA AVE E		*** Owner and Taxpay	er ***		\$4,146.50	
*Ward: 6						
Melanie Stephenson	SPINNER'S ADDITION LOT 16	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0072
Andy Stephenson 775 Nebraska Ave E		Lighting	12.47	50.00	\$623.50 \$4,146.50	
St Paul MN 55106-1729		*** Owner and Taxpay	er ***		\$ <del>4</del> ,140.30	

\*775 NEBRASKA AVE E

14:30:38 12/3/2013	Public Improvement Assessment I	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assm	it: 145201	Manager: LM	Page 48
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>U</u>	nit Rate	Quantity	Charge Amts	Property ID
Marilyn J Rasmussen 13684 Brass Pkwy	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 1	Grade and Pave Lighting		70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0073
Rosemount MN 55068-2473 *776 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpa	ayer ***			\$4,146.50	
Samoeun Poe	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 2 BLK 6	Grade and Pave Lighting		70.46 12.47	62.00 62.00	\$4,368.52 \$773.14	20-29-22-14-0125
Dariya Poe 781 Nebraska Ave E Saint Paul MN 55106-1735 *781 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpa	ayer ***	12.47	62.00	\$5,141.66	
Michael J Hoveland Lynette C Hoveland	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 1 BLK 7	Grade and Pave Lighting		70.46 12.47	62.00 62.00	\$4,368.52 \$773.14	20-29-22-14-0126
782 Nebraska Ave E St Paul MN 55106-1734 *782 NEBRASKA AVE E *Ward: 6		*** Taxpayer ***				\$5,141.66	
Robert L Evans 782 Nebraska Ave E St Paul MN 55106-1734 *782 NEBRASKA AVE E *Ward: 6	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 1 BLK 7	*** Owner ***					20-29-22-14-0126
Kaying Hang 895 Orange Ave E Saint Paul MN 55106-2051	LAKE PHALEN ADDITION LOT 6 BLK 3	Grade and Pave Lighting		70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-14-0127

\*\*\* Owner and Taxpayer \*\*\*

\*784 NEBRASKA AVE E

14:30:38 12/3/2013	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt:	145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit I</u>	Rate	<b>Quantity</b>	Charge Amts	Property ID
Francesco Leone 787 Nebraska Ave E	LAKE PHALEN ADDITION LOT 7 BLK 2	Grade and Pave Lighting		0.46	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0124
St Paul MN 55106-1735 *787 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpa	ayer ***		=	\$4,146.50	
Kristi Erdal	LAKE PHALEN ADDITION LOT 5 BLK 3	Grade and Pave		0.46	50.00	\$3,523.00	20-29-22-14-0128
790 Nebraska Ave E Saint Paul MN 55106-1734 * <b>790 NEBRASKA AVE E</b>	BLK 3	Lighting  *** Owner and Taxpa		2.47	50.00 =	\$623.50 \$4,146.50	
*Ward: 6		3					
Dennis K Zimmerman	LAKE PHALEN ADDITION LOT 8 BLK 2	Grade and Pave		0.46	50.00	\$3,523.00	20-29-22-14-0123
793 Nebraska Ave E St Paul MN 55106-1735	DER 2	Lighting  *** Owner and Taxpa		2.47	50.00	\$623.50 \$4,146.50	
* <b>793 NEBRASKA AVE E</b> *Ward: 6		owner and Taxpa	iyer ***				
Charlotte Johnson	LAKE PHALEN ADDITION LOT 9 BLK 2	Grade and Pave		0.46	50.00	\$3,523.00	20-29-22-14-0122
799 Nebraska Ave E St Paul MN 55106-1735	BLK 2	Lighting	12	2.47	50.00	\$623.50 \$4,146.50	
* <b>799 NEBRASKA AVE E</b> *Ward: 6		*** Owner and Taxpa	ayer ***			ŷ <b>т</b> ,1 <b>т</b> 0.30	
Eugene R Staples Sheryl R Staples	LAKE PHALEN ADDITION LOT 4 BLK 3	Grade and Pave Lighting				\$3,523.00 \$623.50	20-29-22-14-0129
800 Nebraska Ave E		<i>5</i> · <i>5</i>		•	=	\$4,146.50	

\*\*\* Owner and Taxpayer \*\*\*

\*800 NEBRASKA AVE E

St Paul MN 55106-1734

14:30:38 12/3/2013	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Page 5
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Nicholas Adams 805 Nebraska Ave E	LAKE PHALEN ADDITION LOT 10 BLK 2	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0121
Saint Paul MN 55106-1735 *805 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpay	/er ***	:	\$4,146.50	
Chang B Thao 806 Nebraska Ave E Saint Paul MN 55106-1734	LAKE PHALEN ADDITION LOT 3 BLK 3	Grade and Pave Lighting	70.46 12.47	50.00	\$3,523.00 \$623.50	20-29-22-14-0130
*806 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpay	/er ***		\$4,146.50	
Diane L Schray	LAKE PHALEN ADDITION LOT 11 BLK 2	— — Grade and Pave Lighting		50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0120
St Paul MN 55106-1735 *811 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpay	<i>y</i> er ***		\$4,146.50	
Lyndon P Barsten	LAKE PHALEN ADDITION LOT 2 BLK 3	Grade and Pave Lighting			\$3,523.00 \$623.50	20-29-22-14-0131
812 Nebraska Ave E Saint Paul MN 55106-1734 *812 NEBRASKA AVE E *Ward: 6		*** Owner and Taxpay		30.00	\$4,146.50	
Bety B Rios Christensen Robin J Christensen	LAKE PHALEN ADDITION LOT 1 BLK 3	— — Grade and Pave Lighting			\$3,523.00 \$623.50	20-29-22-14-0132
816 Nebraska Ave E St Paul MN 55106-1734		*** Owner and Taxpay		20.00	\$4,146.50	

\*816 NEBRASKA AVE E

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Paul D Ziccarelli	THOLEN SUBDIVISION LOTS 8 AND	Grade and Pave	70.46	114.00	\$8,032.44	20-29-22-14-0037	
Kimberly S Ziccarelli	LOT 9	Lighting	12.47	114.00	\$1,421.58		
707 Nevada Ave E St Paul MN 55106-1731		*** Owner and Taxpay	vor ***		\$9,454.02		
707 NEVADA AVE E		Owner and Taxpay	yei · · ·				
*Ward: 6							
Cenneth J King	THOLEN SUBDIVISION LOT 10			50.00		20-29-22-14-0038	
Kirsten B King		Lighting	12.47	50.00	\$623.50		
115 Nevada Ave E				=	\$4,146.50		
Saint Paul MN 55106-1731		*** Owner and Taxpay	/er ***				
F715 NEVADA AVE E Ward: 6							
waid. 0							
Kevin T Huber	THOLEN SUBDIVISION LOT 11	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0039	
719 Nevada Ave E		Lighting	12.47	50.00	\$623.50		
Saint Paul MN 55106-1731				•	\$4,146.50		
*719 NEVADA AVE E *Ward: 6		*** Owner and Taxpay	er ***				
	THOLEN SUBDIVISION LOT 12	- — — — — — - Grade and Pave					
23 Nevada Ave E		Lighting	12.47	50.00	\$623.50	20-27-22-14-0040	
aint Paul MN 55106-1731				=	\$4,146.50		
F723 NEVADA AVE E Ward: 6		*** Owner and Taxpay	/er ***				
Γhomas Decker	THOLEN SUBDIVISION LOT 13	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0041	
29 Nevada Ave E St Paul MN 55106-1731		Digiting	12.4/	50.00	\$4,146.50		
*729 NEVADA AVE E		*** Owner and Taxpay	/er ***		\$4,140.30		

14:30:38 12/3/2013	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 19147 Assi Resolution #:	mt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Robert T Fehr Sarah W Fehr	THOLEN SUBDIVISION LOT 14	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0042
735 Nevada Ave E St Paul MN 55106-1731 * <b>735 NEVADA AVE E</b> *Ward: 6		*** Owner and Taxpaye	.t ***	:	\$4,146.50	
Raebern B Hitchcock 741 Nevada Ave E	EICHENLAUB ADDITION ST. PAUL, MINN. LOTS 9 AND LOT 10	Grade and Pave Lighting	70.46 12.47	100.00 100.00	\$7,046.00 \$1,247.00	20-29-22-14-0081
St Paul MN 55106-1732 * <b>741 NEVADA AVE E</b> *Ward: 6		*** Owner and Taxpaye	r ***	•	\$8,293.00	
Christopher L Larkin 744 Nevada Ave St Paul MN 55106-1733	DAHLIN'S PARKWAY ADDITION LOT 5	Grade and Pave Lighting	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60 \$6,634.40	20-29-22-14-0092
*744 NEVADA AVE E *Ward: 6		*** Owner and Taxpaye	r ***		\$0,034.40	
Emmalee J Spahl 752 Nevada Ave	DAHLIN'S PARKWAY ADDITION LOT 4	Grade and Pave Lighting	70.46 12.47	75.00 75.00	\$5,284.50 \$935.25	20-29-22-14-0091
St Paul MN 55106-1733 * <b>752 NEVADA AVE E</b> *Ward: 6		*** Owner and Taxpaye	.r ***		\$6,219.75	
Victor I Urbanowicz  Janet M Urbanowicz	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 11	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0082
753 Nevada Ave E St Paul MN 55106-1732		*** Owner and Taxpaye	T ***	:	\$4,146.50	

\*753 NEVADA AVE E

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Resolution #:	Assm	t: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	Quantity	Charge Amts	Property ID
Michelle L Plott 757 Nevada Ave E	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 12	Grade and Pave Lighting		70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0083
*757 NEVADA AVE E *Ward: 6		*** Owner and Taxpa	yer ***			\$4,146.50	
Christian Bonello	DAHLIN'S PARKWAY ADDITION LOT	Grade and Pave		70.46	75.00	\$5,284.50	20-29-22-14-0090
Kristina S Bonello 760 Nevada Ave E	,	Lighting		12.47	75.00	\$935.25 \$6,219.75	
Saint Paul MN 55106-1733  * <b>760 NEVADA AVE E</b> *Ward: 6		*** Owner and Taxpa	yer ***				
Teresa A Odwyer	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 13	Grade and Pave		70.46	50.00	\$3,523.00	20-29-22-14-0084
Guy Frechette 761 Nevada Ave E St Paul MN 55106-1732 *761 NEVADA AVE E *Ward: 6	WIIMN, EOT 13	Lighting  *** Owner and Taxpa		12.47	50.00	\$623.50 \$4,146.50	
Richard N Osiowhemu Cynthia S Osiowhemu	EICHENLAUB ADDITION ST. PAUL, MINN. LOT 14	Grade and Pave		70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0085
767 Nevada Ave E  St Paul MN 55106-1732  *767 NEVADA AVE E  *Ward: 6		*** Owner and Taxpa			:	\$4,146.50	
Mark G Rys 770 Nevada Ave E	DAHLIN'S PARKWAY ADDITION LOT 2	Grade and Pave Lighting		70.46 12.47	75.00 75.00	\$5,284.50 \$935.25	20-29-22-14-0089
St Paul MN 55106-1733 * <b>768 NEVADA AVE E</b>		*** Owner and Taxpa	yer ***		=	\$6,219.75	

14:30:38 12/3/2013	Public Improvement Assessment R	Roll by Address Ratification Date:	Project: 19147 Assn Resolution #:	nt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Marjorie R Anderson	EICHENLAUB ADDITION ST. PAUL,	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0086
71 Nevada Ave E	MINN. LOT 15	Lighting	12.47	50.00	\$623.50	
t Paul MN 55106-1732 771 NEVADA AVE E		*** Owner and Taxpaye	r ***		\$4,146.50	
Ward: 6						
Fim S Messenger	EICHENLAUB ADDITION ST. PAUL,	Grade and Pave			\$3,523.00	20-29-22-14-0087
Sarah L Messenger	MINN. LOT 16	Lighting	12.47	50.00	\$623.50	
775 Nevada Ave E St Paul MN 55106-1732		*** Owner and Taxpaye	***		\$4,146.50	
*775 NEVADA AVE E		Owner and raxpaye	1			
*Ward: 6						
Ramon L Ferguson	DAHLIN'S PARKWAY ADDITION LOT	Grade and Pave	70.46	75.00	\$5,284.50	20-29-22-14-0088
76 Nevada Ave E It Paul MN 55106-1733		Lighting	12.47	75.00	\$935.25	
776 NEVADA AVE E Ward: 6		*** Owner and Taxpaye	1. ***		\$6,219.75	
Cathryn M Isacksen	B. SCHNITIZIUS ADDITION TO ST.					20-29-22-14-0139
83 Nevada Ave E	PAUL, MINN. LOT 2 BLK 7	Lighting	12.47	62.00	\$773.14	20 27 22 11 0107
t Paul MN 55106-1737				-	\$5,141.66	
<b>783 NEVADA AVE E</b> Ward: 6		*** Owner and Taxpaye	т ***			
Gary S Larsen 784 Nevada Ave E	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. LOT 1 BLK 12	Grade and Pave Lighting	70.46 12.47	62.00 62.00	\$4,368.52 \$773.14	20-29-22-14-0140
St Paul MN 55106-1738		<del></del>	12.17	=	\$5,141.66	
*784 NEVADA AVE E		*** Owner and Taxpaye	т ***		•	

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Craig A Hecht Constance J Hecht	LAKE PHALEN ADDITION LOT 7 BLK 3	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0138	
789 Nevada Ave E St Paul MN 55106-1737 * <b>789 NEVADA AVE E</b> *Ward: 6		*** Owner and Taxpay	er ***	:	\$4,146.50		
Fred J Richie Trustee	LAKE PHALEN ADDITION NO. 2 W 6	Grade and Pave	70.46	56.00	\$3,945.76	20-29-22-14-0141	
3668 Gershwin Cir N Oakdale MN 55128-3038 * <b>790 NEVADA AVE E</b>	FT OF LOT 5 AND ALL OF LOT 6 BLK 4	Lighting  *** Owner and Taxpay	12.47	56.00	\$698.32 \$4,644.08		
*Ward: 6		Owner and Tuxpuy					
Gary M Bohn	LAKE PHALEN ADDITION LOT 8 BLK 3	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-14-0137	
793 Nevada Ave E St Paul MN 55106-1737 * <b>793 NEVADA AVE E</b>	DLN 3	Lighting  *** Owner and Taxpay	12.47	50.00	\$623.50 \$4,146.50		
*Ward: 6		Owner and Taxpay	Ci				
Abbie F Pal	LAKE PHALEN ADDITION NO. 2 EX E 14 FT; LOT 4 & EX W 6 FT; LOT 5 BLK	Grade and Pave Lighting	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60	20-29-22-14-0142	
Michael W H Borovansky 96 Nevada Ave E	4			80.00	\$6,634.40		
St Paul MN 55106-1738  F796 NEVADA AVE E  Ward: 6		*** Owner and Taxpay	er ***				
Robert Kaufenberg  799 Nevada Ave E	LAKE PHALEN ADDITION LOT 9 BLK 3	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-14-0136	
St Paul MN 55106-1737 * <b>799 NEVADA AVE E</b>		*** Owner and Taxpay		:	\$4,146.50		

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt	: 145201	Manager: LM	Page :
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Ksc Real Estates Llc 1527 Meadowview Ct	LAKE PHALEN ADDITION NO. 2 E 14 FT OF LOT 4 AND W 46 FT OF LOT 3 BLK 4	Grade and Pave Lighting		70.46 12.47	60.00	\$4,227.60 \$748.20	20-29-22-14-0143
Lino Lakes MN 55038-3330 *802 NEVADA AVE E *Ward: 6		*** Owner and Taxpay	er ***			\$4,975.80	
Robert J Erickson	LAKE PHALEN ADDITION LOT 10 BLK 3	Grade and Pave		70.46	50.00	\$3,523.00	20-29-22-14-0135
Mary J Erickson 803 Nevada Ave E		Lighting		12.47	50.00	\$623.50 \$4,146.50	
*803 NEVADA AVE E *Ward: 6		*** Owner and Taxpay	er ***				
	LAKE PHALEN ADDITION EX N 60 FT	Grade and Pave		70.46	75.00	\$5,284.50	20-29-22-14-0134
319 Lily Pond Ln Vadnais Heights MN 55127-6147	LOT 11 AND LOT 12 BLK 3	Lighting		12.47	75.00 =	\$935.25 \$6,219.75	
*809 NEVADA AVE E *Ward: 6		*** Owner and Taxpay	er ***				
Jane E Samuelson	HARRISON AND HANDY'S ADDITION	Grade and Pave		70.46	15.00	\$1,056.90	20-29-22-13-0045
Dennis D Schultz 640 Parkway Dr	TO THE CITY OF ST. PAUL SELY 15 FT OF LOTS 1 AND 3 AND ALL OF LOT 4 BLK 6	Lighting		12.47	15.00	\$187.05 \$1,243.95	
St Paul MN 55106-1028 * <b>640 PARKWAY DR</b> *Ward: 6		*** Owner and Taxpay	er ***				
	Assessed for 15 feet only along Payne (2014 project)						
Jo Ann M Olson 642 Parkway Dr	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX N 55 FT & EX SELY 15 FT. THE FOL TRACT;	Grade and Pave Lighting		70.46 12.47	40.00	\$2,818.40 \$498.80	20-29-22-13-0044
St Paul MN 55106-1028 *642 PARKWAY DR	LOTS 1, 2 & LOT 3 BLK 6	*** Owner and Taxpay	er ***		-	\$3,317.20	

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assm	t: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	Property ID
Matthew M Linz 707 Parkway Dr Saint Paul MN 55106-1029	UFTON GROVE, THIRD PLAT LOT 2 BLK 3	Grade and Pave Lighting		70.46 12.47	40.00 40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-12-0140
*707 PARKWAY DR *Ward: 6		*** Owner and Taxpaye	r ***			\$3,317.20	
Joseph W Johnson	UFTON GROVE, THIRD PLAT LOT 1 BLK 3	Grade and Pave		70.46	48.00	\$3,382.08	20-29-22-12-0139
711 Parkway Dr St Paul MN 55106-1029 * <b>711 PARKWAY DR</b>		Lighting  *** Owner and Taxpaye		12.47	48.00	\$598.56 \$3,980.64	
*Ward: 6		5 s s					
Jose Felix	UFTON GROVE, THIRD PLAT LOTS 7 AND LOT 8 BLK 2	Grade and Pave		70.46	47.00	\$3,311.62	20-29-22-12-0127
Sheron Sarpong 715 Parkway Dr	AND LOT 6 BLK 2	Lighting		12.47	47.00 =	\$586.09	
St Paul MN 55106-1032 *715 PARKWAY DR *Ward: 6		*** Owner and Taxpaye	L ***			\$2,077.71	
	Front/Rear Calc for improvement along Iowa only. 16+60%(67-16)=47						
udith L Nordstrom Carol J Nordstrom	UFTON GROVE, THIRD PLAT SUBJ TO ESMT;LOTS 1 & LOT 2 BLK 2	Grade and Pave Lighting		70.46 12.47	90.00	\$6,341.40 \$1,122.30	20-29-22-12-0167
733 Parkway Dr St Paul MN 55106-1032 * <b>731 PARKWAY DR</b> *Ward: 6		*** Owner and Taxpaye	L ***			\$7,463.70	
	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOT 1 BLK	Grade and Pave Lighting		70.46 12.47	38.00	\$2,677.48 \$473.86	20-29-22-43-0039
1261 Payne Avenue St Paul MN 55130-3540	3	*** Owner and Taxpaye			=	\$3,151.34	

\*1261 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	ssmt: 145201	Manager: LM	Page 5
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Lucky Investments Llc 5227 Green Farms Rd	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 22 BLK 2	Grade and Pave Lighting	70.46 12.47	31.00 31.00	\$2,184.26 \$386.57	20-29-22-43-0149
Edina MN 55436-1070 *1264 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***		\$2,570.83	
Judd E Nelson Nelson 2060 Arcade St Maplewood MN 55109-2565 *1267 PAYNE AVE *Ward: 6	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOT 2 BLK 3	Grade and Pave Lighting  *** Owner ***	70.46 12.47	25.00 25.00	\$1,761.50 \$311.75 \$2,073.25	20-29-22-43-0040
Paul Vue La Xiong 1261 Payne Avenue St Paul MN 55130-3540 *1267 PAYNE AVE *Ward: 6	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOT 2 BLK 3	*** Taxpayer ***				20-29-22-43-0040
Gerald A Davis 753 Nebraska Ave E Saint Paul MN 55106-1729 *1268 PAYNE AVE *Ward: 6	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 20 AND LOT 21 BLK 2	Grade and Pave Lighting  *** Owner and Taxpayo	70.46 12.47 er ***		\$3,523.00 \$623.50 \$4,146.50	20-29-22-43-0148
Rj Development Of Minn Inc 1076 County Road B W Roseville MN 55113-4414 *1269 PAYNE AVE	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOTS 3 AND LOT 4 BLK 3	Grade and Pave Lighting  *** Owner and Taxpayo	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-43-0041

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 Assn Resolution #:	nt: 145201	Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<u>Property ID</u>	
Raymundo Avila 1270 Payne Ave	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 18 AND LOT 19 BLK 2	Grade and Pave Lighting	70.46	50.00 50.00	\$3,523.00 \$623.50	20-29-22-43-0147	
St Paul MN 55130-3541 *1270 PAYNE AVE *Ward: 6		*** Owner and Taxpayer	***		\$4,146.50		
James L Sundberg Jeanine M Sundberg	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOTS 5 AND LOT 6 BLK 3	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-43-0042	
Mendota Heights MN 55118-4138 *1273 PAYNE AVE *Ward: 6	AND LOT OBER 3	*** Owner and Taxpayer	***	=	\$4,146.50		
Rosebear Inc Po Box 130722 Roseville MN 55113-0007	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 17 BLK 2	Grade and Pave Lighting	70.46	25.00 25.00	\$1,761.50 \$311.75 \$2,073.25	20-29-22-43-0146	
F1274 PAYNE AVE Ward: 6		*** Owner and Taxpayer	***				
Richard Price Rachel Price	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 14, 15 & LOT 16 BLK 2	Grade and Pave Lighting	70.46 12.47	75.00 75.00	\$5,284.50 \$935.25	20-29-22-43-0145	
078 Bonnieview Cir Woodbury MN 55129-8532 E1280 PAYNE AVE EWard: 6		*** Owner and Taxpayer	***		\$6,219.75		
Roger J Hallman 1281 Payne Ave	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOTS 7 & LOT 8 BLK 3	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-43-0043	
St Paul MN 55130-3540					\$4,146.50		

\*\*\* Owner and Taxpayer \*\*\*

\*1281 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt:	145201	Manager: LM	Page 60
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit I</u>	Rate	Quantity	Charge Amts	Property ID
Empire Financial Llc	JOSEPH R. WEIDE'S 2ND ADDITION	Grade and Pave		0.46	42.00	\$2,959.32	20-29-22-43-0014
1632 Lamplight Dr	TO THE CITY OF ST. PAUL LOT 1 BLK 4	Lighting	1:	2.47	42.00	\$523.74	
Woodbury MN 55125-1515 *1293 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***			\$3,483.06	
State Of Mn Trust Exempt	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOT 2 BLK	Grade and Pave Lighting			25.00 25.00	\$1,761.50 \$311.75	20-29-22-43-0015
Po Box 64097 St Paul MN 55164-0097	4	Lighting	1.	2.47	25.00	\$2,073.25	***EXEMPT***
*1297 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***			Ψ2,073.23	
Raymond Becker	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 19 THRU	Grade and Pave Lighting			75.00 75.00	\$5,284.50 \$935.25	20-29-22-43-0120
1300 Payne Ave Saint Paul MN 55130-3543	LOT 21 BLK 1	Lighting	1.	2.47	75.00	\$6,219.75	
*1300 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***			\$0,217.73	
Thomas J Warner	JOSEPH R. WEIDE'S 2ND ADDITION						20-29-22-43-0016
Tonja A Drake	TO THE CITY OF ST. PAUL LOT 3 BLK	Lighting	1:	2.47	25.00	\$311.75	20 27 22 10 0010
1299 Payne Ave St Paul MN 55130-3542 *1301 PAYNE AVE *Ward: 6		*** Owner and Taxpa	ıyer ***		•	\$2,073.25	
Sai Fang	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL S 10 FT OF	Grade and Pave Lighting			35.00 35.00	\$2,466.10 \$436.45	20-29-22-43-0017
7145 Unity Ave N Brooklyn Center MN 55429-1766 *1305 PAYNE AVE	LOT 5 AND ALL OF LOT 4 BLK 4	*** Owner and Taxpa		, ,	33.00	\$2,902.55	

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address  Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rat	e Quantity	Charge Amts	<b>Property ID</b>
Patricia L Devallier  Mark R Devallier	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 18 BLK 1	Grade and Pave Lighting	70.4 12.4		\$1,761.50 \$311.75	20-29-22-43-0119
1306 Payne Ave St Paul MN 55130-3543 *1306 PAYNE AVE *Ward: 6		*** Owner and Taxpayer	- ***		\$2,073.25	
Olson Property Investments Llc 1585 Thomas Center Dr Ste 101	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL N 15 FT OF LOT 5 AND ALL OF LOT 6 BLK 4	Grade and Pave Lighting	70.4 12.4		\$2,818.40 \$498.80	20-29-22-43-0018
Eagan MN 55122-3034 *1307 PAYNE AVE *Ward: 6		*** Owner and Taxpayer	- ***		\$3,317.20	
Richard J Bredemus 2027 Greenbrier St N	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 16 & LOT 17 BLK 1	Grade and Pave Lighting	70.4 12.4		\$3,523.00 \$623.50	20-29-22-43-0118
St Paul MN 55117-2215 *1310 PAYNE AVE *Ward: 6		*** Owner and Taxpayer	· ***		\$4,146.50	
Jennifer Raykowski 112008 Warner Cir	STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 15 BLK 1	Grade and Pave Lighting	70.4 12.4		\$1,761.50 \$311.75	20-29-22-43-0117
Chaska MN 55318-1436 *1312 PAYNE AVE *Ward: 6		*** Owner and Taxpayer	· ***		\$2,073.25	
Anthony E Williams Connie A Williams	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL S 2 FT OF	Grade and Pave Lighting	70.4 12.4		\$3,663.92 \$648.44	20-29-22-43-0019
1366 Edgerton St St Paul MN 55130-3430	LOT 9 AND ALL OF LOTS 7 AND LOT 8 BLK 4	*** Owner and Taxpayer			\$4,312.36	

\*1313 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19147 A Resolution #:	ssmt: 145201	Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>	
Hank Trung Cu Ruby Ngoc Nguyen Po Box 2341 Minneapolis MN 55402-0341 *1315 PAYNE AVE *Ward: 6	JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL N 23 FT OF LOT 9 AND ALL OF LOT 10 BLK 4	Grade and Pave Lighting	70.46 12.47		\$3,382.08 \$598.56	20-29-22-43-0020	
		*** Owner and Taxpay	er ***		\$3,980.64		
Emsa Properties Llc 1380 Raymond Ave	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL S 1/2 OF LOT 7 AND	Grade and Pave Lighting				20-29-22-42-0123	
*1323 PAYNE AVE  *Ward: 6	ALL OF LOT 8 BLK 4	*** Owner and Taxpay			\$3,317.20		
Paolee Vang 1072 Payne Ave Saint Paul MN 55130-3843	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL W 60 FT OF LOTS 6 7 8 AND LOT 9 BLK 3	Grade and Pave Lighting			\$7,750.60 \$1,371.70 \$9,122.30	20-29-22-42-0194	
*1324 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***		\$9,122.30		
Wilfred O Bartsch Marilyn A Bartsch	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL N 1/2 OF LOT 7 AND	Grade and Pave Lighting			\$2,818.40 \$498.80	20-29-22-42-0124	
329 Payne Ave Saint Paul MN 55130-3433 F1329 PAYNE AVE FWard: 6	ALL OF LOT 6 BLK 4	*** Owner and Taxpay			\$3,317.20		
	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 4 AND LOT 5 BLK 4	Grade and Pave Lighting	70.46 12.47		\$3,734.38 \$660.91	20-29-22-42-0125	
Inver Grove Heights MN 55076-4571 *1335 PAYNE AVE	DEA 4	*** Owner and Taxpay	er ***		\$4,395.29		

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt	: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit l</u>	Rate	Quantity	Charge Amts	<b>Property ID</b>
Alan Conard  103 Wildwood Beach Rd  Mahtomedi MN 55115-1670  *1339 PAYNE AVE  *Ward: 6	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 2 AND LOT 3 BLK 4	Grade and Pave Lighting		70.46 2.47	53.00 53.00	\$3,734.38 \$660.91	20-29-22-42-0126
		*** Owner and Taxpay	/er ***		•	\$4,395.29	
Bradley G Stanius 1200 Columbian Drive Punta Gorda FL 33950-5219	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL EX N 4 25/100 FT LOT 3 AND ALL OF LOTS 4 AND LOT 5	Grade and Pave Lighting		20.46	76.00 76.00	\$5,354.96 \$947.72	20-29-22-42-0193
*1340 PAYNE AVE  *Ward: 6	BLK 3	*** Owner and Taxpay	/er ***			\$6,302.68	
Douglas G Walesheck 1346 Payne Ave	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL N 4 25/100 FT OF LOT 3 AND EX N 1 FT LOT 2 BLK 3	Grade and Pave Lighting		70.46 2.47	30.00 30.00	\$2,113.80 \$374.10	20-29-22-42-0192
St Paul MN 55130-3434 * <b>1344 PAYNE AVE</b> *Ward: 6	SANDEANTITEOT 2BER 3	*** Owner and Taxpay	/er ***		=	\$2,487.90	
Robert J Olsen	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL S 7 50/100 FT OF	Grade and Pave			33.00	\$2,325.18	20-29-22-42-0127
2190 Mailand Rd St Paul MN 55119-5330 *1345 PAYNE AVE *Ward: 6	CLEAR AVE VAC ADJ AND LOT 1 BLK 4	Lighting  *** Owner and Taxpay		2.47	33.00	\$2,736.69	
Emc Investments Llc 8936 Springwood Cir Woodbury MN 55125-4913	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL EX S 7 5/10 FT CLEAR AVE AS VAC BET BLKS 5 AND BLK 4	Grade and Pave Lighting		70.46 2.47	53.00 53.00	\$3,734.38 \$660.91 \$4,395.29	
*1347 PAYNE AVE		*** Owner and Taxpay	/er ***				

14:30:38 12/3/2013	Public Improvement Assessment R	•	Project: 19147 Assı Resolution #:	nt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Michael G Gibbs 1353 Payne Ave St Paul MN 55130-3433 *1353 PAYNE AVE	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 6 AND LOT 7 BLK 5	Grade and Pave Lighting  *** Taxpayer ***	70.46 12.47	57.00 57.00	\$4,016.22 \$710.79 \$4,727.01	20-29-22-42-0129
*Ward: 6 Steven D Mark Trustee Steven D Mark Trustee 2205 Ash St White Bear Lake MN 55110-1052 *1353 PAYNE AVE *Ward: 6	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 6 AND LOT 7 BLK 5	*** Owner ***				20-29-22-42-0129
Quality Residences Llc 923 Payne Ave St Paul MN 55130-4001 *1355 PAYNE AVE *Ward: 6	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 5 BLK 5	Grade and Pave Lighting  *** Owner and Taxpayer		25.00 25.00	\$1,761.50 \$311.75 \$2,073.25	20-29-22-42-0130
Chae Vang 1358 Payne Ave Saint Paul MN 55130-3441 *1358 PAYNE AVE *Ward: 6	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 9 AND LOT 10 BLK 2	Grade and Pave Lighting  *** Taxpayer ***	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-42-0167
Za Ying Vang 1027 Edgerton St Unit 1 Saint Paul MN 55130-3860 *1358 PAYNE AVE *Ward: 6	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 9 AND LOT 10 BLK 2	*** Owner ***				20-29-22-42-0167
Tab Legacy Partnership Llc Po Box 25465 Woodbury MN 55125-0465	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 7 AND LOT 8 BLK 2	Grade and Pave Lighting		50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-42-0166

\*\*\* Owner and Taxpayer \*\*\*

\*1360 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 Assi Resolution #:	mt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Michael D Williams 1019 Webster St N	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 3 AND LOT 4 BLK 5	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-42-0131
*1361 PAYNE AVE *Ward: 6		*** Owner and Taxpayer ***		•	\$4,146.50	
Brian L Sherwood 1364 Payne Ave	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 6 BLK 2	Grade and Pave Lighting	70.46 12.47	25.00 25.00	\$1,761.50 \$311.75	20-29-22-42-0165
St Paul MN 55130-3441 *1364 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***		\$2,073.25	
Michael P Mcdonald 727 Parkside Dr	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 1 AND LOT 2 BLK 5	Grade and Pave Lighting	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-42-0132
St Paul MN 55127-3650 *1367 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***	•	\$4,146.50	
Osprey I Llc 855 Village Center Dr Ste 356	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 5 BLK 2	Grade and Pave Lighting		25.00 25.00	\$1,761.50 \$311.75	20-29-22-42-0164
Saint Paul MN 55127-3016 *1368 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***	:	\$2,073.25	
Rto Investments Llc 11115 Excelsior Blvd Hopkins MN 55343-3434	MANDEHRS ADDITION LOT 8 BLK 1	Grade and Pave Lighting		48.00 48.00	\$3,382.08 \$598.56	20-29-22-42-0084
*1369 PAYNE AVE		*** Owner and Taxpa	yer ***		\$3,980.64	

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	Quantity	Charge Amts	Property ID
J Kelly Properties Llc 5858 Blackshire Path	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 4 BLK 2	Grade and Pave Lighting	70.46 12.47	25.00 25.00	\$1,761.50 \$311.75	20-29-22-42-0163
Inver Grove Heights MN 55076-1620 *1370 PAYNE AVE *Ward: 6		*** Owner and Taxpayo	er ***		\$2,073.25	
	DENNY HILL ADDITION TO THE CITY	Grade and Pave	70.46	50.00	\$3,523.00	20-29-22-42-0162
Doborah J Arndt 1376 Payne Ave	OF SAINT PAUL SUBJ TO ESMTS;LOTS 2 & LOT 3 BLK 2	Lighting	12.47	50.00	\$623.50 \$4,146.50	
St Paul MN 55130-3441 *1376 PAYNE AVE *Ward: 6		*** Owner and Taxpayo	er ***			
	MANDEHRS ADDITION LOT 7 BLK 1	Grade and Pave	70.46	48.00	\$3,382.08	20-29-22-42-0085
1377 Payne Ave St Paul MN 55130-3433 *1377 PAYNE AVE		Lighting  *** Owner and Taxpayo	12.47 er ***	48.00	\$598.56 \$3,980.64	
*Ward: 6						
Michael Seide	MANDEHRS ADDITION LOT 6 BLK 1	Grade and Pave	70.46	48.00	\$3,382.08	20-29-22-42-0086
Hayley Seide 6941 4th Street Cir N		Lighting	12.47	48.00	\$598.56 \$3,980.64	
Oakdale MN 55128-7023 <b>*1381 PAYNE AVE</b> *Ward: 6		*** Owner and Taxpayo	er ***			
Cha Wang Thao Yerr Xiong	MANDEHRS ADDITION LOT 5 BLK 1	Grade and Pave Lighting	70.46 12.47	48.00 48.00	\$3,382.08 \$598.56	20-29-22-42-0087
1511 Clarence St St Paul MN 55106-1413		*** Owner and Taxpayo		:	\$3,980.64	

\*1383 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt:	145201	Manager: LM	Page 6
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit F</u>	<u>late</u>	<b>Quantity</b>	Charge Amts	Property ID
Tarryl Olson 1585 Thomas Center Dr	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 6 & LOT 7 BLK 1	Grade and Pave Lighting		0.46 2.47	50.00 50.00	\$3,523.00 \$623.50	20-29-22-42-0135
Eagan MN 55122-3034 *1388 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***		-	\$4,146.50	
Vicki L Olson 1389 Payne Ave	MANDEHRS ADDITION LOT 4 BLK 1	Grade and Pave Lighting				\$3,382.08 \$598.56	20-29-22-42-0088
St Paul MN 55130-3433 *1389 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***		=	\$3,980.64	
Chue Thao Lee	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL EX N 10 FT LOT 3	Grade and Pave Lighting				\$4,579.90 \$810.55	20-29-22-42-0134
1394 Payne Av St Paul MN 55130-3442 *1394 PAYNE AVE	AND ALL OF LOTS 4 AND LOT 5 BLK 1	*** Owner and Taxpay	yer ***		=	\$5,390.45	
*Ward: 6							
Ge Yang 1395 Payne Ave	MANDEHRS ADDITION LOT 3 BLK 1	Grade and Pave Lighting			48.00 48.00	\$3,382.08 \$598.56	20-29-22-42-0089
St Paul MN 55101-3433 *1395 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***			\$3,980.64	
Olson Property Investments Llc 1585 Thomas Center Dr Ste 101	MANDEHRS ADDITION EX N 4 FT LOT 2 BLK 1	Grade and Pave Lighting				\$3,100.24 \$548.68	20-29-22-42-0090
Eagan MN 55122-3034 *1401 PAYNE AVE		*** Owner and Taxpay	yer ***			\$3,648.92	

14:30:38 12/3/2013	Public Improvement Assessment	t Roll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Page 6
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Ra	te Quantity	Charge Amts	Property ID
Kert J Swanson 1413 Payne Ave	SPEISERS ADDITION LOT 7	Grade and Pave Lighting	70. 12.		\$2,818.40 \$498.80	20-29-22-42-0006
St Paul MN 55130-3435 *1413 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***		\$3,317.20	
Bruce R Smith 1414 Payne Ave St Paul MN 55130-3436	MCKINNON ADDITION LOT 2	Grade and Pave Lighting	70. 12.		\$2,818.40 \$498.80 \$3,317.20	20-29-22-42-0036
*1414 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***			
Donald O Swanson 1415 Payne Ave	SPEISERS ADDITION LOT 6	Grade and Pave Lighting			\$2,818.40 \$498.80	20-29-22-42-0005
St Paul MN 55101-3435 *1415 PAYNE AVE *Ward: 6		*** Owner ***			\$3,317.20	
Gregory K Jorgensen 1415 Payne Ave Saint Paul MN 55130-3435 *1415 PAYNE AVE *Ward: 6	SPEISERS ADDITION LOT 6	*** Taxpayer and 3rd P	Party ***			20-29-22-42-0005
Justin T Hardiman 1418 Payne Ave St Paul MN 55130-3436	MCKINNON ADDITION LOT 3	Grade and Pave Lighting	70. 12.		\$2,818.40 \$498.80 \$3,317.20	20-29-22-42-0035
*1418 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***		υ	
Thomas E Schiff Gail A Schiff	SPEISERS ADDITION LOT 5	Grade and Pave Lighting			\$2,818.40 \$498.80	20-29-22-42-0004
1421 Payne Ave St Paul MN 55130-3435 *1421 PAYNE AVE		*** Owner and Taxpay	er ***		\$3,317.20	

14:30:38 12/3/2013	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Page 69
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Susan M Newton 1422 Payne Ave	MCKINNON ADDITION LOT 4	Grade and Pave Lighting	70.46 12.47	40.00	\$2,818.40 \$498.80	20-29-22-42-0034
St Paul MN 55130-3436 *1422 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***		\$3,317.20	
Megan L Griggs Leroux Jon Leroux 2193 Londin Ln E	MCKINNON ADDITION LOT 5	Grade and Pave Lighting	70.46 12.47	40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-42-0033
Saint Paul MN 55119-5301 *1424 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***			
Michael J Horrigan 1427 Payne St Paul MN 55130-3435 *1427 PAYNE AVE *Ward: 6	SPEISERS ADDITION LOT 4	Grade and Pave Lighting  *** Owner and Taxpa	70.46 12.47 yer ***	40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-42-0003
Ann J Romanczuk 1430 Payne Ave Saint Paul MN 55101-3436 *1430 PAYNE AVE *Ward: 6	MCKINNON ADDITION LOT 6	Grade and Pave Lighting  *** Owner ***		40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-42-0032
Keith A Wilson Victoria A Wilson	MCKINNON ADDITION LOT 6	*** Taxpayer ***				20-29-22-42-0032

1430 Payne Ave

Saint Paul MN 55101-3436

\*1430 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment R	coll by Address  Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Palen Contracting Llc	SPEISERS ADDITION LOT 3	Grade and Pave	70.46	40.00	\$2,818.40	20-29-22-42-0002
904 Lincoln Ave		Lighting	12.47	40.00	\$498.80	
Saint Paul MN 55105-3146		*** 0 1.7	باد باد		\$3,317.20	
*1431 PAYNE AVE *Ward: 6		*** Owner and Taxpayer	r ***			
ward: 6						
	MCKINNON ADDITION LOT 7	Grade and Pave	70.46		\$2,818.40	20-29-22-42-0031
Nancy Perez		Lighting	12.47	40.00	\$498.80	
1436 Payne Ave		*** 0 1.T	***		\$3,317.20	
St Paul MN 55130-3436 * <b>1436 PAYNE AVE</b>		*** Owner and Taxpayer	r			
*Ward: 6						
Primera Iglesia Bautista De Renovacion 1437 Payne Ave Saint Paul MN 55101-3435 *1437 PAYNE AVE *Ward: 6	SPEISERS ADDITION LOTS 1 AND LOT 2	Grade and Pave Lighting  *** Owner and Taxpayer	70.46 12.47	——————————————————————————————————————	\$5,918.64 \$1,047.48 \$6,966.12	20-29-22-42-0001
Kay R Harrington 1450 Payne Ave	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL N 39	Grade and Pave Lighting	70.46 12.47	— — <del>40</del> .00 40.00		20-29-22-13-0147
St Paul MN 55130-3245	68/100 FT OF S 84 68/100 FT OF LOTS 16 17 AND 18 ALSO E 6 FT OF N 40 FT	88			\$3,317.20	
*1450 PAYNE AVE	OF LOT 18 BLK 13	*** Owner and Taxpayer	r ***		\$5,517.20	
*Ward: 6						
Richard T Nymoen	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL N 1/2 OF	Grade and Pave	70.46	— — <del>62.00</del>	\$4,368.52	20-29-22-13-0136
enny Dagle Nymoen '68 Eldridge Ave E	LOTS 28 29 AND LOT 30 BLK 14	Lighting	12.47	62.00	\$773.14 \$5,141.66	
Maplewood MN 55117-2212		*** Owner and Taxpayer	r ***		φ3,141.00	

\*1453 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147  Resolution #:	Assmt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rat</u>	<u>Quantity</u>	Charge Amts	<b>Property ID</b>
Scott C Beary Chelsea Beary	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX E 6 FT THE N 40 FT OF LOTS 16 17 AND LOT	Grade and Pave Lighting	70.44 12.4		\$2,818.40 \$498.80	20-29-22-13-0146
1454 Payne Ave Saint Paul MN 55130-3245 *1454 PAYNE AVE *Ward: 6	18 BLK 13	*** Owner and Taxpay	er ***		\$3,317.20	
Maureen T Bibeau	HARRISON AND HANDY'S ADDITION	Grade and Pave			\$4,368.52	20-29-22-13-0184
458 Payne Ave St Paul MN 55130-3245	TO THE CITY OF ST. PAUL EX THE E 21.38 FT OF THE S 28.75 FT OF LOT 13 & THE S 1/2 OF LOTS 14 & LOT 15 BLK	Lighting	12.4	7 62.00	\$773.14 \$5,141.66	
*1458 PAYNE AVE *Ward: 6	13	*** Owner and Taxpay	er ***			
	HARRISON AND HANDY'S ADDITION	Grade and Pave	70.4		\$2,959.32	20-29-22-13-0113
Oah Ray 459 Payne Ave	LOTS 1 2 AND LOT 3 BLK 14			7 42.00	\$523.74 \$3,483.06	
Saint Paul MN 55130-3246 *1459 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***			
Barbara J Schramm	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX PKWY S	Grade and Pave			\$3,523.00	20-29-22-13-0089
476 Payne Ave t Paul MN 55130-3215	66 80/100 FT OF LOTS 16 17 AND LOT 18 BLK 12	Lighting	12.4	7 50.00	\$623.50 \$4,146.50	
*Ward: 6		*** Owner and Taxpay	CI · rr			
	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX S 66	Grade and Pave Lighting			\$4,086.68 \$723.26	20-29-22-13-0088
viary E Zunn 1484 Payne Ave St Paul MN 55130-3215	80/100 FT LOTS 16 17 AND LOT 18 BLK 12	*** Owner and Taxpay		33.00	\$4,809.94	
::		or and ranpuy	-			

\*1484 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Assi Resolution #:	nt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Scott W Carlyon	HARRISON AND HANDY'S ADDITION	Grade and Pave	70.46	62.00	\$4,368.52	20-29-22-13-0087
Shanta K Carlyon	TO THE CITY OF ST. PAUL S 1/2 OF LOT 13 14 AND LOT 15 BLK 12	Lighting	12.47	62.00	\$773.14	
488 Payne Ave at Paul MN 55130-3215		*** Owner and Taxpayer	- ***		\$5,141.66	
*1488 PAYNE AVE		o mier and ranpay er				
*Ward: 6						
	HARRISON AND HANDY'S ADDITION	Grade and Pave	70.46	— — <del>47</del> .00		20-29-22-13-0051
501 Payne Ave	TO THE CITY OF ST. PAUL EX BEG ON NWLY L OF AND 75 21/100 FT FROM	Lighting	12.47	47.00	\$586.09	
St Paul MN 55130-3216	W COR OF LOT 10 TH ELY TO E L OF			-	\$3,897.71	
*1501 PAYNE AVE	AND 45 FT N FROM SE COR OF LOT 12 TH S 5 FT TH WLY PAR WITH 1ST DESC	*** Owner and Taxpayer	***			
*Ward: 6						
Mark D Watson	HARRISON AND HANDY'S ADDITION	Grade and Pave	70.46	73.00	\$5,143.58	20-29-22-13-0052
511 Payne Ave	TO THE CITY OF ST. PAUL EX SLY PART BEING 75 21/100 FT ON NWLY L	Lighting	12.47	73.00	\$910.31	
t Paul MN 55130-3216	AND 45 FT ON E L THE FOL LOTS 10 11 AND 12 ALSO BEG ON E L OF AND	*** Owner and Taxpayer	. ***		\$6,053.89	
*1511 PAYNE AVE *Ward: 6	40 FT N FROM SE COR OF LOT 12 TH	Owner and raxpayer				
Kathryn L Peterson	HARRISON AND HANDY'S ADDITION					20-29-22-13-0065
522 Payne Ave	TO THE CITY OF ST. PAUL EX N 64	Lighting	12.47	60.00	\$748.20	20-27-22-13-0003
t Paul MN 55130-3217	68/100 FT LOTS 13 14 AND LOT 15 BLK 7			-	\$4,975.80	
1522 PAYNE AVE		*** Owner and Taxpayer	***			
Ward: 6						
Wendy J Meath	HARRISON AND HANDY'S ADDITION	Grade and Pave	70.46	65.00	\$4,579.90	20-29-22-13-0064
ranklin D Meath	TO THE CITY OF ST. PAUL N 64 68/100 FT OF LOTS 13 14 AND LOT 15	Lighting	12.47	65.00	\$810.55	
528 Payne Ave	BLK 7	*** Over and Terre	. ***		\$5,390.45	
t Paul MN 55130-3217		*** Owner and Taxpayer				

\*1528 PAYNE AVE \*Ward: 6

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Marvin Lee Bao Moua Lee	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX E 16 FT AND EX N 50 FT LOTS 14 15 AND LOT	Grade and Pave Lighting	70.46 12.47	75.00 75.00	\$5,284.50 \$935.25	20-29-22-13-0013
2147 Orchard Ln White Bear Lake MN 55110-5430 *1534 PAYNE AVE *Ward: 6	16 BLK 1	*** Owner and Taxpayo	er ***		\$6,219.75	
Craig T Falzone Falzone / Michael A Schmitz / Schmitz 5124 Isle Ave N Lake Elmo MN 55042-9400 *1540 PAYNE AVE *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX E 16 FT THE N 50 FT OF LOTS 14 15 AND LOT 16 BLK 1	Grade and Pave Lighting  *** Owner ***	70.46 12.47	35.00 35.00	\$2,466.10 \$436.45 \$2,902.55	20-29-22-13-0012
Schmitz And Falzone Prtnrshp 1540 Payne Ave St Paul MN 55130-3255 *1540 PAYNE AVE *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX E 16 FT THE N 50 FT OF LOTS 14 15 AND LOT 16 BLK 1	*** Taxpayer ***				20-29-22-13-0012
John P Schroepfer 1551 Payne Ave	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL SUBJ TO PKWY N 1/2 OF VAC ALLEY	Grade and Pave Lighting	70.46 12.47	135.00 135.00	\$9,512.10 \$1,683.45	20-29-22-13-0174
St Paul MN 55130-3218 *1551 PAYNE AVE *Ward: 6	ACCRUING & EX S 30 FT, LOTS 6 & 7 & ALL OF LOTS 1 THRU LOT 5 BLK 3	*** Owner and Taxpayo	er ***		\$11,195.55	
Kanes Catering Incorporated 1560 Payne Ave St Paul MN 55130-3219	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL ALL OF HOYT AVE VAC BET LOT 6 BLK 3 UFTON GROVE 3RD PLAT AND BLK 2	Grade and Pave Lighting	70.46 12.47	<del>67</del> .00 67.00	\$4,720.82 \$835.49 \$5,556.31	20-29-22-13-0024
*1560 PAYNE AVE	HARRISON AND HANDYS ADD AND ALL OF SD BLK 2	*** Owner and Taxpayo	er ***			

ALL OF SD BLK 2

	Ratification Date:	Project: 19147 Assn Resolution #:	nt: 145201	Manager: LM	Page
<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
UFTON GROVE, THIRD PLAT NO PART OF HOYT AVE VAC ADJ AND LOT 6 & LOT 7 BLK 3	Grade and Pave Lighting	70.46 12.47	47.00 47.00	\$3,311.62 \$586.09	20-29-22-12-0143
	*** Owner and Taxpayer	***		\$3,897.71	
UFTON GROVE, PLAT I, RAMSEY, CO.,	Grade and Pave	70.46	56.00	\$3,945.76	20-29-22-12-0171
OF LOT 7 BLK 4			56.00	\$4,644.08	
UFTON GROVE, PLAT I, RAMSEY, CO., MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4	Grade and Pave Lighting  *** Owner and Taxpayer		60.00 60.00 =	\$4,227.60 \$748.20 \$4,975.80	20-29-22-12-0170
UFTON GROVE, THIRD PLAT LOT 8 BLK 3	Grade and Pave Lighting  *** Owner and Taxpayer	70.46 12.47	40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-12-0144
UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 4 BLK 4	Grade and Pave Lighting	70.46 12.47	40.00 40.00 =	\$2,818.40 \$498.80 \$3,317.20	20-29-22-12-0087
	UFTON GROVE, THIRD PLAT NO PART OF HOYT AVE VAC ADJ AND LOT 6 & LOT 7 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., MINN. THE S 20 FT OF LOT 6 AND ALL OF LOT 7 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, THIRD PLAT LOT 8 BLK 3	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. THE S 20 FT OF LOT 6 AND ALL OF LOT 7 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN. THE S 20 FT, LOT 6 AND ALL OF LOT 7 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, THIRD PLAT LOT 8 BLK 3  UFTON GROVE, THIRD PLAT LOT 8 BLK 3  Grade and Pave Lighting  *** Owner and Taxpayer  UFTON GROVE, THIRD PLAT LOT 8 BLK 3  Grade and Pave Lighting  *** Owner and Taxpayer  UFTON GROVE, THIRD PLAT LOT 8 BLK 3  Grade and Pave Lighting  *** Owner and Taxpayer	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. THE S 20 FT OF LOT 6 AND ALL OF LOT 7 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, THIRD PLAT LOT 8 BLK 3  Grade and Pave Lighting  12.47  **** Owner and Taxpayer ****  UFTON GROVE, THIRD PLAT LOT 8 BLK 3  UFTON GROVE, THIRD PLAT LOT 8 BLK 3  Grade and Pave Lighting  12.47	UFTON GROVE, PLAT I, RAMSEY, CO, MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO, MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO, MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO, MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO, MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO, MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO, MINN EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO, MINN EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO, Grade and Pave Lighting 12.47 40.00  UFTON GROVE, PLAT I, RAMSEY, CO, MINN. LOT 4 BLK 4  Lighting 12.47 40.00  EXPRESS OF THE OF LAT I, RAMSEY, CO, MINN. LOT 4 BLK 4  Lighting 12.47 40.00	UFTON GROVE, PLAT I, RAMSEY, CO., MINN EXTHE \$20 FT, LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN EXTHE \$20 FT, LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN EXTHE \$20 FT, LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN EXTHE \$20 FT, LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN EXTHE \$20 FT, LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, PLAT I, RAMSEY, CO., MINN EXTHE \$20 FT, LOT 6 AND ALL OF LOT 5 BLK 4  UFTON GROVE, THRED PLAT LOT 8 BLK 3  UFTON GROVE, THRED PLAT LOT 8 BLK 3  UFTON GROVE, THRED PLAT LOT 8 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave Lighting 12.47  UFTON GROVE, THRED PLAT LOT 8 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  UFTON GROVE, PLAT I, RAMSEY, CO., Grade and Pave TO. 46 BLK 3  S3,317.20

14:30:38 12/3/2013	Public Improvement Assessment Ro	ll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rat	e Quantity	Charge Amts	<b>Property ID</b>
Douglas A Palmer Paulette S Palmer	UFTON GROVE, THIRD PLAT S 22 FT OF LOT 10 AND ALL OF LOT 9 BLK 3	Grade and Pave Lighting	70.4 12.4		\$4,368.52 \$773.14	20-29-22-12-0145
1578 Payne Ave St Paul MN 55130-3058 *1578 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***		\$5,141.66	
Ajc Equity Llc 103 Wildwood Beach Rd Mahtomedi MN 55115-1670	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 3 BLK 4	Grade and Pave Lighting	70.4 12.4		\$2,818.40 \$498.80 \$3,317.20	20-29-22-12-0086
*1581 PAYNE AVE *Ward: 6		*** Owner and Taxpa	yer ***			
	UFTON GROVE, THIRD PLAT EX S 22 FT LOT 10 AND ALL OF LOT 11 BLK	Grade and Pave Lighting			\$4,086.68 \$723.26	20-29-22-12-0146
Saint Paul MN 55130-3058  F1586 PAYNE AVE  Ward: 6	3	*** Taxpayer ***			\$4,809.94	
Michael Larkin Larkin L586 Payne Ave Saint Paul MN 55130-3058 *1586 PAYNE AVE *Ward: 6	UFTON GROVE, THIRD PLAT EX S 22 FT LOT 10 AND ALL OF LOT 11 BLK 3	*** Owner ***				20-29-22-12-0146
Dorothy L Paddock 1589 Payne Ave St Paul MN 55130-3057	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. LOTS I AND LOT 2 BLK 4	Grade and Pave Lighting			\$5,354.96 \$947.72 \$6,302.68	20-29-22-12-0085

\*\*\* Owner and Taxpayer \*\*\*

\*1589 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	ssmt: 145201	Manager: LM	Page 7
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Lee A Lorentz 1590 Payne Ave	UFTON GROVE, THIRD PLAT LOT 12 BLK 3	Grade and Pave Lighting	70.46 12.47	36.00 36.00	\$2,536.56 \$448.92	20-29-22-12-0147
St Paul MN 55130-3058 *1590 PAYNE AVE *Ward: 6		*** Owner and Taxpay	/er ***		\$2,985.48	
Michael P Engstrom 1595 Payne Ave	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. LOT 6 BLK 3	Grade and Pave Lighting	70.46 12.47		\$2,818.40 \$498.80	20-29-22-12-0067
St Paul MN 55130-3059 *1595 PAYNE AVE *Ward: 6		*** Owner and Taxpay	/er ***		\$3,317.20	
Nina Vue Pao Vang	UFTON GROVE, THIRD PLAT NO PART OF VAC ALLEY ACCRUING & FOL; N	Grade and Pave Lighting	70.46 12.47	55.00 55.00	\$3,875.30 \$685.85	20-29-22-12-0133
1600 Payne Ave St Paul MN 55130-3060 *1600 PAYNE AVE *Ward: 6	15 FT OF LOT 14 & ALL OF LOT 15 BLK 2	*** Owner and Taxpay	/er ***		\$4,561.15	
Sf Homes Llc 13570 Grove Dr Unit 193	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. LOT 5 BLK 3	Grade and Pave Lighting	70.46 12.47		\$2,818.40 \$498.80	20-29-22-12-0066
*1601 PAYNE AVE *Ward: 6		*** Owner and Taxpay	/er ***		\$3,317.20	
Pa Yang 1607 Payne Ave	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. LOT 4 BLK 3	Grade and Pave Lighting	70.46 12.47		\$2,818.40 \$498.80	20-29-22-12-0065
Saint Paul MN 55130-3059 *1607 PAYNE AVE		*** Owner and Taxpay	/er ***		\$3,317.20	

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Ass Resolution #:	smt: 145201	Manager: LM	Page '
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Myhomesource Llc 800 Nicollet Mall Ste 2850	UFTON GROVE, THIRD PLAT W 1/2 OF VAC ALLEY ACCRUING TO PART OF LOT 16 & FOL; EX N 25 FT;LOT 18 &	Grade and Pave Lighting	70.46 12.47	95.00 95.00	\$6,693.70 \$1,184.65	20-29-22-12-0134
Minneapolis MN 55402-7012 *1610 PAYNE AVE *Ward: 6	ALL OF LOTS 16 & LOT 17 BLK 2	*** Owner and Taxpay	er ***		\$7,878.35	
Charles A Henderson Clare A Rodrigues Henderson	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 3 BLK 3	Grade and Pave Lighting		40.00	\$2,818.40 \$498.80	20-29-22-12-0173
1611 Payne Ave St Paul MN 55130-3059 *1611 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***		\$3,317.20	
Benjamin J Yanez 1615 Payne Ave St Paul MN 55130-3059	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 2 BLK 3	Grade and Pave Lighting	70.46 12.47	40.00	\$2,818.40 \$498.80 \$3,317.20	20-29-22-12-0172
*1615 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***		\$3,317.20	
Margot Marie Leclair 1617 Payne Ave	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 1 BLK 3	Grade and Pave Lighting	70.46 12.47		\$2,536.56 \$448.92	20-29-22-12-0063
*1617 PAYNE AVE *Ward: 6		*** Owner and Taxpay			\$2,985.48	
Richard T Franco Nancy J Franco	UFTON GROVE, THIRD PLAT N 25 FT OF LOT 18 AND ALL OF LOT 19 BLK 2	Grade and Pave Lighting	70.46 12.47	61.00 61.00	\$4,298.06 \$760.67	20-29-22-12-0135
1618 Payne Ave St Paul MN 55130-3060		*** Owner and Taxpay	er ***		\$5,058.73	

\*1618 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Ass Resolution #:	mt: 145201	Manager: LM	Page 78
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Val Cain 1624 Payne Ave	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. EX N 10 FT LOT 17 AND ALL OF LOT 16 BLK 6	Grade and Pave Lighting	70.46 12.47	66.00 66.00	\$4,650.36 \$823.02	20-29-22-12-0110
*1624 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***		\$5,473.38	
Richard D Olchefski Lesley J Olchefski 1627 Payne Ave	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. LOTS 6 AND LOT 7 BLK 2	Grade and Pave Lighting	70.46 12.47	76.00 76.00	\$5,354.96 \$947.72 \$6,302.68	20-29-22-12-0044
Saint Paul MN 55130-3061 *1627 PAYNE AVE *Ward: 6		*** Owner and Taxpay	er ***		<b>40,202</b> .00	
Martha Mary Dreyling Martha Mary Dreyling Trustee 1630 Payne Ave St Paul MN 55130-3062	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. N 10 FT OF LOT 17 AND ALL OF LOT 18 BLK 6	Grade and Pave Lighting  *** Owner and Taxpayo	70.46 12.47	50.00 50.00	\$3,523.00 \$623.50 \$4,146.50	20-29-22-12-0111
*1630 PAYNE AVE *Ward: 6						
Mary B Gmitter 1631 Payne Ave	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 5 BLK 2	Grade and Pave Lighting	70.46 12.47	40.00 40.00	\$2,818.40 \$498.80	20-29-22-12-0043
Saint Paul MN 55130-3061 *1631 PAYNE AVE *Ward: 6		*** Owner and Taxpayo	er ***	•	\$3,317.20	
Per Lay 1637 Payne Ave	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 3 AND LOT 4 BLK 2	Grade and Pave Lighting	70.46 12.47	80.00 80.00	\$5,636.80 \$997.60	20-29-22-12-0042
Saint Paul MN 55130-3061				:	\$6,634.40	

\*\*\* Owner and Taxpayer \*\*\*

\*1637 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 Resolution #:	Assmt	: 145201	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	Quantity	<b>Charge Amts</b>	<b>Property ID</b>
Edna I Gustafson	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. VAC ALLEY ACCRUING &	Grade and Pave		70.46	80.00	\$5,636.80	20-29-22-12-0162
Allen L Gustafson	LOTS 19 AND LOT 20 BLK 6	Lighting	1	12.47	80.00	\$997.60	
1640 Payne Ave St Paul MN 55130-3062		*** Owner and Taxpaye	r ***			\$6,634.40	
*1640 PAYNE AVE							
*Ward: 6							
	UFTON GROVE, PLAT I, RAMSEY, CO.,		- — — <del></del>	70.46	76.00	\$5,354.96	
1645 Payne Ave	MINN. LOTS 1 & LOT 2 BLK 2	Lighting	1	12.47	76.00	\$947.72	
Saint Paul MN 55130-3061		*** 0 1.5	ملد ماد ماد		•	\$6,302.68	
*1645 PAYNE AVE *Ward: 6		*** Owner and Taxpaye	r ***				
waid. 6							
Thor Christopher Oehrlein	UFTON GROVE, PLAT 1, RAMSEY, CO.,	Grade and Pave		70.46	76.00	\$5,354.96	20-29-22-12-0163
1650 Payne Ave	MINN. VAC ALLEY ACCRUING & LOTS 21 AND LOT 22 BLK 6	Lighting	1	12.47	76.00	\$947.72	
St Paul MN 55130-3062 *1650 PAYNE AVE		*** Owner and Taxpaye	per and Taynayer ***			\$6,302.68	
*Ward: 6		Owner and raxpaye	1				
	UFTON GROVE, PLAT 1, RAMSEY, CO.,	 Grade and Pave	- — — <del></del>	70.46	40.00		20-29-22-12-0024
2271 2nd St N Ste 100	MINN. LOT 5 BLK 1	Lighting	1	12.47	40.00	\$498.80	
North St Paul MN 55109-2934					=	\$3,317.20	
*1661 PAYNE AVE *Ward: 6		*** Owner and Taxpaye	r ***				
Andrew L Jacobson	UFTON GROVE, PLAT I, RAMSEY, CO., MINN. LOT 4 BLK 1	Grade and Pave		70.46	40.00	\$2,818.40	20-29-22-12-0023
Ashley A Jacobson 1665 Payne Ave	Manager BER 1	Lighting	1	12.47	40.00	\$498.80	
Saint Paul MN 55130-3063		*** Owner and Taxpaye	r ***			\$3,317.20	

\*1665 PAYNE AVE

14:30:38 12/3/2013	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19147 As Resolution #:	smt: 145201	Manager: LM	Page 8
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Paul M Koetter Rebecca J B Koetter	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. S 1/2 OF LOT 2 AND ALL OF LOT 3 BLK 1	Grade and Pave Lighting	70.46 12.47	60.00	\$4,227.60 \$748.20	20-29-22-12-0022
1673 Payne Ave St Paul MN 55101-3063 *1673 PAYNE AVE *Ward: 6		*** Owner and Taxpaye	er ***		\$4,975.80	
St Paul Public Housing Agency Comptroller 555 Wabasha St N Ste 400	CLAPP-THOMSSEN GREENBRIER PARK ADDITION LOT 1 BLK 1	Grade and Pave Lighting	70.46		\$4,509.44 \$798.08 \$5,307.52	20-29-22-12-0001
St Paul MN 55102-1602 * <b>1676 PAYNE AVE</b> *Ward: 6		*** Owner and Taxpaye	or ***		93,307.32	
Tony J Hartman	UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. N 1/2 OF LOT 2 AND ALL OF	Grade and Pave	70.46		\$3,945.76	20-29-22-12-0021
Emily Hartman 10 Ingerson Rd N Maple Plain MN 55359-9491	LOT 1 BLK 1	Lighting  *** Owner and Taxpaye	12.47 er ***	56.00	\$698.32	
*1679 PAYNE AVE *Ward: 6						
1405 Payne Llc Co Andrew D Hybben	MANDEHRS ADDITION N 4 FT OF LOT 2 AND ALL OF LOT 1 BLK 1	Grade and Pave Lighting			\$3,663.92 \$648.44	20-29-22-42-0091
3363 Oasis Ave N		3	12.17	12.00	\$4,312.36	

\*\*\* Owner and Taxpayer \*\*\*

\*630 SHERWOOD AVE

Stillwater MN 55082-1342

14:30:38 12/3/2013	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19147 Assi Resolution #:	mt: 145201	Manager: LM	Page 8
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	<b>Property ID</b>
Denton R Peterson Maureen A Messer 1555 Lincoln Ave St Paul MN 55105-2238 *644 SHERWOOD AVE *Ward: 6	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL N 10 FT OF LOT 3 AND ALL OF LOTS 1 AND LOT 2 BLK 1	Grade and Pave Lighting  *** Owner ***	70.46 12.47	67.00 67.00	\$4,720.82 \$835.49 \$5,556.31	20-29-22-42-0133
Rrh Holdings Llc 8971 Highway 5 Lake Elmo MN 55042-8900 *644 SHERWOOD AVE *Ward: 6	DENNY HILL ADDITION TO THE CITY OF SAINT PAUL N 10 FT OF LOT 3 AND ALL OF LOTS 1 AND LOT 2 BLK 1	*** Taxpayer ***				20-29-22-42-0133
Robert D Kraker 1739 St Clair Ave St Paul MN 55105-1935 *395 WHEELOCK PKWY E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX PKWY N 2/3 OF LOTS 1 2 AND LOT 3 BLK 14	Grade and Pave Lighting  *** Owner and Taxpayer	70.46	56.00 56.00	\$3,945.76 \$698.32 \$4,644.08	20-29-22-13-0112
Barbra Haugen 633 Wheelock Pkwy E St Paul MN 55130-3232 *633 WHEELOCK PKWY E *Ward: 6	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL PART NLY OF PKWY OF LOTS 14 THRU LOT 17 BLK 11	Grade and Pave Lighting  *** Owner and Taxpayer	70.46	54.00 54.00	\$3,804.84 \$673.38 \$4,478.22	20-29-22-13-0107
Kristen Lynch William Lynch 695 Wheelock Pky E	HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 30 AND E 30 FT OF LOT 29 BLK 12	Grade and Pave Lighting	70.46	64.00 64.00	\$4,509.44 \$798.08 \$5,307.52	20-29-22-13-0098

\*\*\* Owner and Taxpayer \*\*\*

\*695 WHEELOCK PKWY E

St Paul MN 55106-1718

14:30:38 12/3/2013	Public Improvement Assessment R	•	Project: 19147 Resolution #:	Assm	t: 145201	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit</u>	t Rate	<b>Quantity</b>	Charge Amts	Property ID
City Of St Paul 25 4th St W Rm 1000 St Paul MN 55102-1692	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. SUBJ TO PARKWAY; BLK 10	Grade and Pave Lighting		70.46 12.47	249.00 249.00	\$17,544.54 \$3,105.03 \$20,649.57	20-29-22-14-0150 ***EXEMPT***
*725 WHEELOCK PKWY E *Ward: 6		*** Taxpayer ***				\$20,0 <del>1</del> 7.37	
State Of Mn Trust Exempt Po Box 64097 St Paul MN 55164-0097 *725 WHEELOCK PKWY E *Ward: 6	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. SUBJ TO PARKWAY; BLK 10	*** Owner ***				. — — — — —	20-29-22-14-0150 ***EXEMPT***
Joshua Geving Sarah Geving	DAHLIN'S PARKWAY ADDITION LOT	Grade and Pave Lighting		70.46 12.47	82.00 82.00	\$5,777.72 \$1,022.54	20-29-22-14-0093
743 Wheelock Pky E St Paul MN 55106-1720 * <b>743 WHEELOCK PKWY E</b> *Ward: 6		*** Owner and Taxpayer *	***		=	\$6,800.26	
Timothy M Miller Patti A Miller	DAHLIN'S PARKWAY ADDITION LOT	Grade and Pave Lighting		70.46 12.47	55.00 55.00	\$3,875.30 \$685.85	20-29-22-14-0098
775 Wheelock Parkway E St Paul MN 55106-1720 *775 WHEELOCK PKWY E *Ward: 6		*** Owner and Taxpayer *			=	\$4,561.15	
Thomas E Pruno  Kathleen R Pruno	B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. EX PARKWAY LOT 2 BLK 12	Grade and Pave Lighting		70.46 12.47	62.00 62.00	\$4,368.52 \$773.14	20-29-22-14-0149
781 Wheelock Pky E St Paul MN 55106-1722  *781 WHEELOCK PKWY E  *Ward: 6		*** Owner and Taxpayer *	***			\$5,141.66	
Total Grade and Pave: Total Lighting:	\$1,525,388.54 \$269,963.03						
Project Total:	\$1,795,351.57						

14:30:38 12/3/2013	Public Improvement Assessm	nent Roll by Address Project	t: 19147 Assi	mt: 145201	Manager: LM	Page 83
		Ratification Date: Resolu	tion #:			
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	Quantity	<b>Charge Amts</b>	<b>Property ID</b>
	00.00	Residential Frontage:	12.47	40,942.00	\$1,697,660.03	
Less Total Discounts:	\$0.00	Commercial Frontage:	12.47	2,356.00	\$97,691.54	
Project Total:	\$1,795,351.57	Frontage Totals:		43,298.00	\$1,795,351.57	

391 Parcel(s)

2 Exempt Parcel(s)